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CHAPTER -1
CIRCUIT ELEMENTS& ENERGY SOURCES

INTRODUCTION:

An electric circuit is an interconnection of electrical elements such as
resistors, capacitors, inductors, voltage source etc. In electrical engineering, transfer of
energy takes place from one point to another, which requires interconnection of
electrical devices. Such interconnection is known as electric circuit and each component
of the circuit is known as an element.

EXAMPLE # Consider an electrical circuit as shown in

the figure. This electric circuit consists of four elements

a battery, a lamp, switch & connecting wires. Circuitand ~—= \
rabch

tareey

network theorem is the study of the behaviour of the — °
circuit: Its behaviour tells us how does it respond to a

Oght he s

given input how do the interconnected elements and
devices in the circuit interact? —®_

ELECTRIC CURRENT:

Electric current may be defined as the time rate of net motion of an
electric charge across a cross sectional boundary as shown in the figure given below. A
random motion of electrons in a metal does not constitute a current unless there is a net
transfer of charge with time i.e. electric current.

i = Rate of transfer of electric charge
= Quantity of electric charge transferred during a given time
duration/ Time duration
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Coulomb is the practical as well as SI unit for measurement of electric
charge. Since current is the rate of flow of electric charge through conductor and
coulomb is the unit of electric charge, the current may be specified in coulombs per
second. In practice the ampere is used as the unit of current. Coulomb is the practical as
well as SI unit for measurement of electric charge. Since current is the rate of flow of
electric charge through conductor and coulomb is the unit of electric charge, the current
may be specified in coulombs per second. In practice the ampere is used as the unit of
current.




VOLTAGE:

The voltage is the potential difference between two points of a
conductor carrying a current of one ampere when the power dissipated between these
two points is equal to one watt. The practical unit of voltage is volt.

POWER:
Power is defined as the rate of doing work or rate at which it can perform
work. So Power = work done/ Time in seconds
dw dwdq_
P =——==vVi
T dt dq dt

Absolute unit of power is watt. One watt is that power which is required to perform one
joule of work in one second. The practical unit of power is horse power (HP). This value
in metric system is 75kg meters per second and in British system is 550 Foot
Pounds/second. Therefore

1 HP (Metric) =75 Kg meters per second= 735.5 watt

1 HP (British) =550 Foot Pound/ second = 746 watt

ENERGY:

Energy of a body is its capacity of doing work.

E = [ Pdt

The unit of energy in MKS system is joule and in SI system is KWH. A
system can have this energy in various forms, such as electrical, mechanical, heat,
chemical, atomic energy etc. Energy of one form can be transformed to other form, but
cannot be created nor be destroyed. If one form of energy disappeared, it reappears in
another form. This principle is known as law of conservation of energy.

CIRCUIT ELEMENTS/PARAMETERS:

1. RESISTANCE:
Resistance restricts the flow of electric current through the material. Unit
of Resistance(R) is Ohm. From Ohm’s law
R=V/I
When an electric current flows through any conductor, heat is generated due to collision
of free electrons with atoms. If I amp is the strength of current for potential difference V
volts across a conductor, the power observed by resistor is :

P=VI= (IR).I=/%R watts
Energy lost in the re51stor 1n form of heat is then

V2
Efzodtf”“H th—

2. INDUCTANCE:
It opposes any change of magnitude or direction of electric current
passing through the conductor. Unit is Henry (H).When a current will flow through the
coils/Inductor an electromagnetic field is created. However in the event of any change




of flow on direction of current, the electromagnetic field also changes. This change of
field induces a voltage (V) across the coil & is given by

v=r4 1)

Where 1’ is current through the inductor.
Voltage across an inductor is zero when current is constant.
Hence an inductor acts like short circuit to dc.

Power absorbed by inductor

P=Vx i=Li%watts. (2)
Energy absorbed. ,
E=[ p.dt =1Li2 (3)
0 2

From equation (2) & (3): The inductor can store finite amount of energy,
even the voltage across it may be nil. A pure inductor does not dissipate energy but can
only store it.

3. CAPACITANCE:

It is the property of capacitor, which have the capability to store electric
charge in its electric field established by the two polarities of charges on the two
electrodes of a capacitor.

The amount of charge store by capacitor is

q=cv
j=da =>j=c v
dt dt

Therefore if voltage across capacitor is constant, current through it is
zero. Hence capacitor acts like a open circuit to dc.
Power absorbed P=V.I= VC&

t dt
Energy stored E=[ p.dt =1CV2
0 2

A capacitor can store finite amount of energy. Even if the current through it is zero. It
never dissipates energy.

TYPES OFELEMENTS:
ACTIVE AND PASSIVE ELEMENT:
An active element has capability to generating energy while passive
elements have not.
Ex: Active Element: Generators, Batteries, And Amplifiers.
Passive Element: Resistor, Inductor, capacitor.

BILATERAL AND UNILATERAL ELEMENT:

If the magnitude of current passing through the element is affected due to
change in the polarity of the applied voltage, the element is called unilateral element.
And if the current magnitude remains same, it is called as bilateral element.

Ex: Unilateral Element: - Diodes, Transistors.
Bilateral Element: - Resistor, Inductor, Capacitor




LINEAR AND NON-LINEAR ELEMENTS:

A linear element shows linear characteristics of voltage Vs current.
Resistors, Inductor, Capacitor are linear elements and their property does not change in
applied voltage on circuit current.

For non-linear elements the current passing through it does not change
linearly with the time as change in applied voltage at a particular frequency.

Ex: Semiconductor devices.
ENERGY SOURCES:

Independent Energy sources: The voltage & current sources whose values or

strength of voltage and current does not change by any variation in the connected

network are called independent sources.

. . Series Connecon:
Series connected independent Woltanas Add Capaciy & Canstant

sources: Consider the series connection of two
voltage sources as shown in the figure. By KVL  +
the total voltage between the terminals is equal ~ '#¥
to algebraic sum of individual sources i.e. the

voltage sources connected in series may be

replaced by a single voltage source whose
voltage is equal to the algebraic sum of the 12
individual sources.
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Dependent Energy sources: When the strength of voltage and current changes
in the sources for any change in the connected network, they are called dependent
sources. There four different types of dependent sources

a) Voltage controlled voltage source (VCVS)
b) Voltage controlled current source (VCCS)
c) Current controlled voltage source (CCVS)
d) Current controlled current source (CCCS)
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SOURCE TRANSFORMATION:
The voltage and current sources are mutually transferable as shown in
the figure below.

R" O
liﬂ ll.
R, | Ry SH

KIRCHHOFF’S LAW:

These laws are more comprehensive than Ohm’s law and are used for
solving electrical networks which may not be readily solved by latter. Kirchhoff’s law is
of two types, Kirchhoff’s current law and Kirchhoff’s voltage law. Kirchhoff’s current law
is used when voltage is chosen as variable while Kirchhoff' voltage law is used when
current is chosen as variable.

KCL: According to Kirchhoff’s current law the algebraic sum of currents at any
node of a circuit is zero. From the figure given below:

-I1-I2+13-14+15=0 M
Aty
=>[1+I2+ [4=I3+]5 )
A ey
Hence: W
Algebraic sum of currents entering a node = "’.?1 b w’\ \u
Algebraic sum of current leaving a node. 5 X

Examplel: Find the magnitude and direction of the unknown current as shown
in figure given 1= 10 A, [;= 6A, Is= 4A

Solution: Assume direction of current in the Feay
network "= T\ R
b oLy TE &
i) L=I=10A [ TN, o B ey
(ii) Ii=1o+ [4=>14= [1-[,=10-6=4 A ‘ ‘4 'l:r‘\“l/ o |
(iii) Atnode b: I2-13-1s=0 A ,
=>6-13-4=0=>3=2A [ |
(iv) Atnoded: Is+ 13- 160 : 11— =
=>4 +2-16=0

=>Jg=6A




Assume direction of all current are correct because of their positive
magnitude. Assume directions of unknown current are arbitrary and any direction can
be taken.

Example2: Find v and the = N
magnitude and direction of the unknown = 1 [ = T 1
currents in the branch xn, yn and zn as . T | by | ’ '
shown in figure. |04 ° 1 < ’ %
& L @ g3 v @ 3y
3 |

Solution:
Atnodey: 10 + Ix+Iz=1y+ 2
Ix -y +1z=-8
V+V+V=-8[sincelx=V, Iy=—V,Iz="]
5 2 4 5 5 5
V = —-8.42 volt

Negative magnitude shows that n to be positive.

Therefore Ix = -842 = -1.684 A (i.e. from flowing current n to x)
5
ly = - (=842)= 4 21 A (ie Current flowing from n to y)
2

Iz = %‘;42= -2.1 A (ie current flowing from n to z)

The circuit can be redrawn as given below

Example3: Find i1 and i2 as shown in figure

| o e o= 1
Solution: The circuit is redrawn in figure T"‘" Vi
According to KCL: i1 +i2=5+4i2------------=----- (1) A »- )l} § ‘0
TR - — (2) ( 7 Yo ¥
| ) [
Here i1 = K; iz:K
1 5 )
Therefore equation 2:V-3=5 i T i G
5 ' \,,‘l P P— i
=>V =125 volt A/ £t 3 )\ I
Thereforeii=12.5Aandiz=2.5A ' '%" SV \‘( : f £
|




KIRCHHOFFS VOLTAGE LAW: ¢’/

This law can be stated as AANAA——eeee
“The algebraic sum of voltage in any |, I _l- v
closed path of a network that is traversed in single (Y LS
direction is zero.” & D
Explanation: According to KVL P e
Vi-IR1-V2-1IR2-1IR3=0 ‘u*/‘.".»'»————r
IR1+IR2+IR3=V1-V; ‘v,
_ Vi-V2
TR1+R2+R3

CURRENT DIVISION RULE:

Two resistors are joined in parallel e e S x
. . o -~
across a voltage V. The current in each branch, as given 1L s I
. . . I Ay v
in ohm'’s law is A o il i

I1=V/R1 and I>= V/ R2
Therefore  11/I2=Rz2/ Ri=G1/ G

Hence the division of current in the
branch of parallel circuit is directly proportional to the
conductance of the branches or inversely proportional to their resistances. We may also
express the branch currents in terms of the total circuit current thus:

Now Li+I2=1
=>I=I-11
Therefore u="or [1Ri1=Rz(I-11)

-1 RY R1
Therefore [1=1 and I, =I

R1+R2 R1+R2

Thus current division rule is stated as
“The current in any of the parallel branches is equal to the ratio of
the opposite branch resistance to the total resistance, multiplied by the total current.”

Example4: A resistance of 10 ohm is connected in series h 15
with two resistances each of 15 ohm arranged in parallel. F._' —l
What resistance must be shunted across this parallel — —www- L Sy V.
combination so that the total current taken shall be 1.5 A ‘
with 20 volt applied? |
Solution: The circuit connected in figure [1SA
Drop across 10 ohm resister = 1.5 * 10=15V ’
Drop across parallel combination, Vag= 20-15=5V
Hence voltage across each parallel resistance is 5V.

1=5/15=1/3A

Ir=5/15=1/3 A

I=1.5-(1/3+1/3)=5/6 A

Therefore = IzZR=5 or (5/6) R=5o0r R=6 ohm




Example5: Calculate the value of different current for fh: N

—— AN
the circuit shown in given figure. fh R
\»—-———fvwx——/—
Solution: Total current =11+ + I3 ! . L R ]}
Let the equivalent resistance be R. ;
w
|

Then V=IR
Also V=11 R: Seeeseom e
Therefore IR=11Ry

Or I1=IR/Ry (1)
Now (1/R) = (1/R1) + (1/R2) + (1/R3)
R1R2R3

" R1R2 + R2 R3+ R3 R1

. R2 R3
From equation 1:  [1=

R1 R2 + R2 R3+ R3 R1

. R1R3
Similarly I2=
R1R2 + R2 R3+ R3 R1
R1R2
I3=

R1 R2 + R2 R3+ R3 R1

VOLTAGE DIVISION RULE:

A voltage divider circuit is a series network which is used to feed other
networks with a number of different voltages and is derived from a single input voltage
source. Figure shows a simple voltage divider circuit which provide two output voltages
V1 and V2. Since no load is connected across the output terminals, it is called an
unloaded voltage divider. We may also express the branch voltages in terms of the total
circuit voltage thus:

Now V1+V2=V

=>V,=V-V;
R1
Therefore 1 _=_orV1R;=R; (V-Vi)
V-Vl R2
Therefore Vi-=V R and V2=V _R2__
R1+R2 R1+R2

Thus Voltage division rule is stated as
“The voltage across a resistor in series circuit is equal to the value of that
resistor times the total impressed voltage across the series elements divided by the
total resistance of the series elements.”

Example9: Find the value of different voltages that can be
obtained from a 12 V battery with the help of voltage divider ‘2

circuit of figure. T
Solution: Y Az
R=R1+R2+R3=4+3+1=80hm ?

Drop across R1=Vr1=12 X (4/8) = 6 volt
Drop across R2=Vr2 =12 X (3/8) = 4.5 volt
Drop across R3=Vr3=12 X (1/8) = 1.5 volt




Example10: What are the output voltages of the unloaded voltage divider shown in
figure what is the direction of current Through AB?

.
Solution: ‘
It may be remember that both V1 and V2 are with I
respect to ground. : PR
R=6+4+2 =12 ohm * U
Therefore im -
V1= Drop across R2= 24 x (4/12) = 8 volt -

V2 = Drop across R3=-24 x (2/12) =-4 volt

It should be noted that point B is negative potential with respect to the
ground. Current flows from A to b i.e. from a point at a higher potential to appoint at a
lower potential.
Problem 1
Find the values of V, V4 and the powret delivered by the 5V source. All values of 1esistances aie In
ohm.

al= 2V &
AN NN SN
l ) 200 6010) )

v( ™) [ )sv

l \"s"r\,,_l.,;\
N | 400

D
Solution

" I
Canent, f = —=—A

LU
l’:'.’- 'Y ':

200+ 245+ v+70i=0
|
==7=HWi==T-Mx—=~10 V
X 30 v
vy =206+ v+ 30 =500 =10

= ﬁ():-.—l—A 10=~833V
kil

al= 2V
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VIV V‘JV

300 4002
b

,

1

Power dawnby the S5Vsouice = - (Power takensouice) = -5x — = -0 166W

30




STAR DELTA TRANSFORMATIONS

Figure shows a Y (star or wage) connected resistance circuit. Let
the resister value of Y network are Ra, Rb and Rc. Figure shows a (delta)

connected resistances and Let the resistor values are Rab, Rbc and Rca .

, A
3 e

. R
P Rac
W Mg
/ﬁﬂb E\G
o c £ WA C
B B Rbc
Star Connected Delta Connected

[t is possible to substitute a star connected system of resistance for a delta
system and vice-versa if proper values are given to the substituted
resistances.

DELTA TO STAR CONVERSION

The two systems will be exactly equivalent if the resistance between any
pair of terminals A, B and C in figure for the star is the same as that between

the corresponding pair for the delta connection when the third terminal is
isolated.

For the Y-network resistance between the terminal
AandBisRab=Ra + Rb-omommoee eq. (i)

For the A network resistance between the terminals AB is

Rab = Rab II (Rac + Rbc)




= Rab(RactRbc)----------=====mmmmmmmmmmmmmmmmmee e eq. (ii)

Rab+Rac+Rbc

Hence Ra + Rb =Rab (Rac+Rbc) eq. (iii)

Rab+Rac+Rbc
Simalarly for Y-network resistance between terminal B and C is
Rbc = Rb+Rc
For the A network resistance between terminal B and C is
Rbc = Rbe IT (Rab+Rac)

Rb+Rc = Rbe (Rab+Rac) eq. (iv)
Rbc+Rab+Rac

Similarly we can find Rac between terminal A and C is

Ra+Rc¢ = Rac(Rab+Rbc) eq. (v)
RactRab+Rac

Subtracting eq.(v) from the sum of eq.(iii) and eq.(iv) yields

2 Rb =2 Rab . Rbc
Rab+Rbc+Rca

Rb = Rap . Ric
Rab+Rbc+Rca

Subtracting eq.(iv) from the sum of eq.(iii) & eq.(v) yields

2 Ra=2Rab.Rac
Rab+Rbc+Rac




Ra = Rab . Rac
Rab+Rbc+Rac

Similarly subtracting eq.(iii) from the sum of eq.(iv) and eq.(v) yields

2 Rc = 2. Rbc . Rca
Rab+Rbc+Rca

Rc = Rbe. Rea
Rab+RbctRca

Therefore, the equivalent impedance of each arm of the star is given by the
product of the impedance of the two delta sides that meet at its ends divided by
the sum of

there delta impedance

STARTO DELTA CONVERSION

Similarly we can find conversion formula for Y to A as

Rab=Ra.Rb + Rb.Rc+ Rc.Ra
Rc

Rbc=Ra.Rb + Rb.Rc+ Rc.Ra
Ra

Rca=Ra.Rb + Rb.Rc+ Rc.Ra
Rb




Problem-1

Convert the Y network to an equivalent A network.

7.5x5
a R b R, =153+53+——=25 ohms
o
50 750
":l. 4
3 1, T3%d
‘ | : R, =75+3+———=15 ohms
Re b 5
ke v, 5x3

R =5+3+——=10 ohms
75

Problem-2

Q. Convert the A network to an equivalent Y network.

o R‘ D
250
1o s
o 2 R,
©
Soln:
a

RR 1025 i

g = = = =5 ohms '
R+R+R 15+10+25 , 56 75Q v
RyE AVRy,

R.R 25x15 Y
= 2 =——— =75 o0hms
© R +R+R S0 \R3230

R R, 15%10

= = 3ohms | €




Find the equivalent resistance between the terminals A and B of the circuit shown below.

60 il 4 )

Solution

Converting star into delta,

= 9.875Q
= 50 40>
T 15.80 26.33 0 T
1=
A
1.2075 Q
2.981 Q 1.887 02
9.875 0
= . =
3.798 Q T 3.472Q 3.798 QT 3.472 0
B ls

combining the parallel connecticnsof 5Q and 15.8 Q and 4 Q and 26.33 Q, we have the reduced
circuit.

Again, converting the delta made of 6 Q, 4 © and 9.875 Q into equivalent sta,

o li2’
re == = =
e C T o Y
6x4
={o875 = 1.2075Q
4 <9875
= ey o8
_ 6x9.875




1.2075 Q3

6.779 Q2 g g 5459 Q)
ls

So, the given ciicuit becomes as shown in figure.

‘ 6.779 x 5.459
jad =1.2075 4 = 4.23 ) Ans.
Al s 6.779 + 5459 3

Problem 3

Find the current through the galvanometer using delta-star conversion.
B

l 3
1
8V 45

Solution

Converting the delta consisting of 20 Q, 30 Q and 50 Q, we get,

20 % 30

AU ED .
20 x 50

2 =30+30+50 0%
30 x 50

T R T

S Rac=160Q




M utual inductance

‘Mutual induction is a phenomenon when a coil gets induced in EMF across it due
to rate of change current in adjacent coil in such away that the flux of one coil
current gets linkage of another coil.

Definition of M utual | nductance

M utual Inductance is the ratio between induced emf across a coil to the rate of

change of current of another adjacent coil in such away that two coilsarein
possibility of flux linkage.

M F)induced in that coi
Mr{ofacoﬂ}:( f)induced in that coil

( di(t) )
dt of other coil

SOURCE TRANSFORMATIONS

In the circuit analysis, a circuit with either voltage source or current
sources is preferred. Sometimes a circuit may have both ie. voltage source & current
source. In that case it is convenient to transform voltage source to equivalent current
source and current source to equivalent voltage source

. 7 8 W o
¢

VT P £R 1@ R TR
°R 0 — e "B

[Transformation of Voltage source to (current source to an equivalent
an equivalent current source) voltage source)




CHAPTER -2

NETWORK THEOREMS
INTRODUCTION
Electric circuits on network consist of a number of interconnected single circuit elements. This
circuit will generally contain at least one voltage on current source. The arrangement of elements
results in a new set of constraints between currents and voltages. These new constraints and their
corresponding equations added to the current-voltage relationships of the individual elements
provide the solution of the network. There are different approaches for this but the solution is
always unique.

NODE ANALYSIS & MESH ANALYSIS

Two methods one Node analysis and the other mesh analysis are used to
analyse a circuit depending on the arrangement and types of elements in the circuit.
Nodal analysis is based on Kirchhofl’s Current Law (KCL) and Mesh analysis Is based on

Kirchhoff's Voltage Law (KVL).

NODAL ANALYSIS
Let us consider a circuit shown in fig 2.2 with four E— 2
nodes. A convenient way of defining voltages for any network is ] ’
the set of node voltages. [, 4
One node ie. 4 (generally the node at the o e
g2 -

bottom)is marked as reference node with ground and other
nodes are associated with a voltage. The reference node also can be called as Ground
Node. In fig 2.2, the voltages Vi, V3, Vi are called Node Voltages because they represent
the potential differences between the nodes 1.2 & 3 and reference node respectively.
That is the voltage ol each of the non-reference

nodes with respect to the reference node Is defined is Rs
as a node voltage, ' Wer
S 2 , i 5
Consider the circuit in figure _‘, iz Ra
Vi — M—— 2~ MWr—— 3 Vs
- . —— ’ 1 Ri | 2
I _\_'_,'— Vo , is=V;-Vs ‘ T.‘\l § Ra i(J.i Ry
3 ) ./ =
Ry Rs l T4
Now applying KCL at node 1, the sum of currents
ig23 —=

leaving is zero.
Therefore iy +1s =i = ()




i=Vi-Vo + Vi-V3 eq. (1)
R1 Rs

Similarlyatnode2 -i1=V2-V;, 2=V, i3=V;-V3
R1 R> R3
Vo-V; +V2o-V3 +V, =0 eq.(2)
Ri R3 Rz
At Node 3 Sum of currents leaving are

-i3=V3-V2, i4=VJ,'i5=V3_V1

R3 R4 Rs
Va-Vo+ V3 + V3- V3 eq. (3)
R3 R4 Rs

All the above these equation can be solved to determine the individual
node voltages V1, V2& V3.

Example 1
Find the node voltages Vi and V; for the Vi ﬁ Vs
circuit at figure. (1) 2
Solution At node 1 apply KCL sum of all 100 § @)
the current leaving the node (1) is zero current leaving 4 58 i
node 1 are V3, V1-Vz and -2A (2A is entering)
10 15
Vi+V3-Vp -2=0
10 15
i(t+)-"2=2
10 15 15
S5V1 =2V = 60 --mmmmmmmm oo eq. (1)
Similarly At node 2 current leaving are ‘%, ‘/2—1_V51and -4A
V5_2+V215V1_4=0
4V, -V1=60 eq. (2)
Solving the above two equations (1) & (2)
We get Vi = 20V, V2 = 20V i
B A - |3
Example 2 A w W
Find Vlé:)/fui?odnw for the circuit in figure. ok 230 saf ) v
Atnode 1 |
Vi-V; Vl;“ +3=0
3V1-2V2-V3 = -6 eq. (1)
At node 2 V2-V1+E+H:0
3 4
-12V1+19V,;-3V3=0 eq.(2)

18




Atnode 3

V3-V1 V3, V3-V2
> + = + =7
-10V1- 5V2 +19V3 =140 eq. (3)

By solving we get V1 = 5.238V,V;=5.12V& V3 =11.47V

Example 3
Find the node voltage V1& V o7 B Ty 52
] Y
Solution N § 0 §29
To write node equation treat node 1and 2 \!
and the voltage source together as a Sort of Super node

and apply KCL to both nodes at the same time. The
super node is individual by dotted line.
Applying KCL, we get

S14V1+ V24 V2= eq. (1)
2 2 5
And from voltage source Vi -2 =V, eq. (2)

Now we can solve for Vi and V> using both equations.

MESH ANALYSIS

Mesh analysis is restricted to the category called Planar Circuit whereas
nodal analysis can applied to any electrical circuits. A planer circuit is a circuit if the
diagram of the circuit can be drawn on a plane surface without crossover. Example of
planner and non-planar circuit are shown in fig (2.7).

o ————
- ""-\.__ = = i
i = T M |
E LB G ii iy &
i} :
Flanér Circali i |
Figure depicts a circuit comprising two meshes. i B
o v
They are = T s
[ e ad Z®m ) Fn
Mesh 1: Vs - R1—» R2—>V3 o ] 3 &

Mesh 2: R3 - R4 - R2—>R3
The two mesh currents are labeled as i1 and iz flowing in clockwise
direction. Now we will apply KVL around each mesh.

19




For mesh 1

i1R1 + (i1-i2) R2= Vs eq. 1
For mesh 2
i2R3 + 12R4 + Rz (iz-i1) = 0 eq. 2

Eq.(1) & (2) can be rewritten as
(R1+R2)i1 - R2iz = V5 eq.3
-R2i1 + (R2+R3+R4) i2=0
Finally the two equations can be put in matrix form
(R1+R2 —R2 ] [1=["°
—R2 R2+R3+R4 i2 0

]

Which can be solved for i1 and i».

Examples 4 find the mesh current i; and iz for the circuit shown in figure.
20 40

For first mesh 2i1+3(i1-i2) =9 eq.1 w e
4i2-5+3(i2-i1) =0 eq.2 n _

Equation can be rewritten as C)w D §3Q DEVCD
5i1-3i2=9 eq.3 - i iz +
-3i1+7i2=5 eq.4

By solving i1=3A,i2=2A

Example 5

Determine the voltage drop across 3} resister using mesh analysis in figure.

__________________ R o —
-—-r/;-_} ______ i 32 ,:;\

SORMIN

i1

SUPERMESH

When a current source is common to two meshes we use the concept of
super mesh to analysis the circuit using mesh current method. A super mesh is a larger
mesh created from two meshes that have a current source as common element. A super
mesh encloses more than one mesh for each common current source between two
meshes, the number of meshes reduce by one, thus reading the number of mesh
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Solution to Example 6
The 2A current source is common to mesh 2 & 3. So we create a super

mesh as shown in dotted line.
For super mesh

6i3 + 3iz + 5(i2-i1)-8= 0

= -5i1 +8i2 + 6i3=8 eq. 1

For mesh 1
-12+8+5(i1-i2) = 0
= 5i1-5i, =4 eq.2
iz-iz =2

From current source
By solving we get
Voltage across 3(Q) resistor

i2=2.664
=2.66x3 =8v.

Example 7
Use node analysis to find Vi, Vo, V3 & i1
i;\ ;i
Vi 2
S — L T v
oA
T)aa § § 0
Solution
Applying KCL at node 1
We get
vi-vz  vi-v3_, eq. 1
20 2
Applying KCL at node 2
a-vi 2 1 g=-90 eq.2
20 4
Applying KCL at node 3
V3, Vivi_g eq.3

2 2
By solving all these equations we can get Vi= 16v, V,=-24v, V3= 16v, i1 = 0A

Examples 8
Find the voltage V; using mesh analysis. ;:ﬂ‘; o)

----------

D - +
309‘2‘% ' 14084 i () 1ov §SU.Q

Solution
Applying KVL for super mesh :
30i1+20(05+i1)+10=0 R i
= 50i1 =-20 Ry fig 2.12
Supermesh

— iy =-2=- 044, V, = 20(i1+0.5)
5

=20x0.1=2v
21




Superposition Theorem

In a linear bilateral network containing two or more independent sources,
the voltage across or current in any branch is algebraic sum of individual voltages or
currents produced by each independent sources acting separately with all the

independent sources set equal to zero.

Procedure to solve the circuit using superposition theorem
1. Select only one source and replace all other sources with
their internal resistance. If the source is an ideal current
source replace it by open circuit. If the source is an ideal
voltage source, replace it by short circuit.

2. Find the current and its direction through the desired
branch.

3. Add all the branch currents to obtain the actual branch
current.

Examples 9
Find the current through 20 register using

superposition theorem.

Solution

First we find the contribution to I due to 5V
source by replacing 2A current source with open-circuit.
Applying KCL for the circuit in figure.

3 6
Next we find the contributions I> due to 2A current source
by replacing the voltage source by short-circuit.

30

24
3
My— 0
(jsw a0 § § &0 OfC

6113

=20
SC 20 § §

Iz

Z (1)

19

25

I = 2x° = 1Amp

4
Total current flowing through the 2Q) resistor = I1+I; = 1+E = EAmp

6 6
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Limitation of Super-position Theorem

1. Notapplicable to the circuits consisting of only dependent sources.

2. Notapplicable to the circuits consisting of non-linear elements.

3. Not applicable for calculation of power, since power is potential is propositional

to the sequence of current or voltage.

4. Not useful to the circuits consisting of less than two independent sources.

Example 10

Find current I using Superposition theorem for the circuit in the figure.

Solution:

The circuit has three voltage sources. First we find the contribution to 4
due to 2V. Therefore short-circuit the remaining two voltage sources as shown in figure.

1-—2 _10_5
2+Q5_ 16 8

30

When 4V acting as shown in figure
It =_4' = E A
2+i 4

When 3V is acting alone as shown in figure
I3=- iAmp
When all the sources are acting together total

current will be
I=Il+12+13:_+
4

3 1+2—3: OAmp

1 [—
2 4 4

11

2Q

20

23




Example 11

Find current I,

Solution: Let us assume that only 12V is acting done and current
through it ia1, open circuit 4A and 1A current source and short-circuit the 6V voltage
source as in the figure.

i)  E*
12_ 4 oo
Ial - __ =- _A
9 3 = 10
When 4A current source is actinzg alone as shown in figure.
4X6 8
Ia2=_=_=_A Ia2
9 9 3
When 1A is acting alone as s}%ovgn in figure. £ 3Q
l3=1x_=_A Ias
9 3 1A

e &V

When 6V is acting alone as in figure

las £
6 2
Ia4=_= - _A

9 3

When all the sources are acting total current will be

la =lar + L2 + a3 + las
_ 4,81 2_ 448412
3 3 3
_3
3
= lamp
I =1A

APPLICATION OF SUPER-POSITION THEOREM

The super-position theorem is applicable for any linear circuit having time
varying or time invariant elements. It is useful in circuit analysis for finding current &
voltage when the circuit has a large number of independent sources.
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LIMITATION OF SUPER-POSITION THEOREM

1. Not applicable to the circuits consisting of dependent sources.

2. Notapplicable to the circuits consisting of non linear elements like
diode, transistor etc.

3. Not applicable for calculation of power.

THEVENIN'S THEOREM

Thevenin’s theorem states that any linear active two terminal network
containing resistance and voltage sources or current sources can be replaced by a single
voltage sources Vu, in series with single resistance Rw. The Thevenin equivalent voltage
Vi is the open circuit voltage at the network terminal and the Thevenin resistance Ru, is
the resistance between the network terminals when all the sources are replaced with
their internal resistance.

Fig (a) shows a linear network containing resistance, voltage sources or
current sources with output terminal AB using Thevenin’s theorem the linear network
can be replaced by single voltage source Vu, in series with a single resistor Rwx as shown
in fig(b). Now any resistor can be corrected between the terminal AB and current
through it can be obtained easily.

Procedure to find the current through a branch using Thevenin’s Theorem.

1. Remove the branch through which current is to be found and mark the terminal
AB.

2. Calculate the open circuit voltage Vi, between the terminal AB.

3. Replace the independent sources with their internal resistance. (if the internal
resistances are zero, then voltage source should be short-circuited and current
source should be open-circuited)

4. Calculate Ry between the terminal AB.

5. Correct thevenin's voltage sources in series with Thevenin resistance with output
terminal AB.

6. Correct the removed resistance between AB and find the current through it.

V' —eA
12kQ | 8kQ
Example <
Find Vry, Rruend the load current == P < RL
. Sommm—-4 48v - 4kﬂ L~ g
flowing through and load voltage across the load « 5k
resistor in figure by using Ttevenin’s Theorem.
@B
Step 1 12kQ 8k
Open the 5k} load resistor figure. = a8V 4k0
Step 2 1
Calculate / measure the Open Circuit | o8B

Voltage. This is the Thevenin Voltage (Vtn)
figure. We have already removed the load resistor from figure 1, so the circuit became an
open circuit as shown in fig 2. Now we have to calculate the Theve in’s Voltage. Since
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3mA Current flows in both 12kQ and 4k resistors Sh—-y "

as this is a series circuit because current will not | l— NSZT —eA
: ) . | 12kn | | 8ko ’
flow in the 8k(l resistor as it is open. | |
So 12V (3mA x 4kQ) will appear across the :“V siiis f; 4k 12v
4kQ) resistor. We also kncw that current is not e
flowing through the 8kQ resistor as it is open v 8
@

circuit, but the 8k(l resistor is in parallel with 4k
resistor. So the same voltage (i.e. 12V) will appear
across the 8kQ resistor a ¢ 4kQ resistor. Therefore 12V will appear across the AB
terminals. So,

Jnh ok 4k =12V

Vry =12V
Step 3 —V VT \VV—eA
12kn Bks1
Open Current Sources and Short
Voltage Sources figure. < 4kn
>

Step 4 eB
. (Fa?culate / meaéure t_he Open Circuit AAA——ANA—eA
Resistance. This is the Thevenin Resistance (Rth) 12kQ @ 8ka
< -
_ _We have Reduce(_i th_e 48V DC .source < aka —
to zero is equivalent to replece it with a short in step > )
(3), as shown in figure () We can see that 8k( |
resistor is in series with a pe rallel connection of 4k} B
= 8KQ + (4k © || 12k2) — = 8k + 3k

resistor and 12k Q resistor. i.e.: Rry = 11kQ
8kQ + (4k Q || 12kQ) ..... (]| = in parallel with)
Rru = 8k} + [(4kQ x 12kQ) / (4kQ + 12kQ)]
Rru = 8k + 3k

Rt = 11k
Step 5 —VVV—9A
o 11k
Connect the Rruin series with Voltage
Source Vryand re-connect the load resistor. This is —— RL
shown in figure i.e. Thevenin circuit with load — 12V 5k0
resistor.
B
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Step 6

Now apply the last step i.e. calculate the

total load current & load voltage as shown in figure. NN\ —eA
11kQ
IL = Vtu/ (Rtu + Ry)
_ S — RL
=12V, (11kQ + 5kQ) — =12v é i
=12/16kQ (
IL =0.75mA
S A
And
Vi =ILxR;
VL = 0.75mA x 5kQ)
Vi =3.75V
NORTON'S THEOREM
Norton’s theorem states that any linear active two terminal network
contains resistance and voltage source or current source can be replaced by single

current source or current source can be replaced by single current source Inin parallel
with a single resistance Rn. The Norton's equivalent current Iy is the state circuit current
through the terminals AB and resistance Ry is the resistance between the network
terminals when all the sources are replaced with internal resistances.
Procedure to find the current through a branch using Norton’s theorem.

1. Remove the branch through which current is to be found and mark terminal AB.

2. Short-circuit the terminal AB and find current through it and denote it as Isc.

3. Replace the independent sources with their internal resis ances (if internal
resistances are zero then voltage source should be short circuited and current
sources should be open-circulated).

4, Calculate Ry between the terminals AB.

5. Connect the short-circuit current (Norton’s) I, in parallel with Ry with output
terminal AB.

Correct the removed branch between terminals AB and find current.

Example

Find the current in RL using Norton’s Theorem

HI_ H.'-\-
At AN
14 ¥
B, — 28V R: < (Load) Bycseif N
T 2T g 1
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After Norton conversion...

that
r ponent

Remember
a current source is a co
whose job is to provide a constant
amount of current, outputting as
much or as little voltage necessary
to maintain that constant current.

As with Thevenin's
Theorem, everything in the original
circuit except the load resistance has
been reduced to an equivalent circuit
that is simpler to analyze. Also similar
to Thevenin's Theorem are the steps
Norton's Theorem to

used in

Norion Equivalent Clroul!

Luson (1)

L S 'g lﬂﬂl
R, R
Wi - i
40 i 1 £1
— B Y L%m B.

calculate the Norton source current (Inorton) and Norton resistance (Rnorton).

As before, the first step is to identify the load resistance and remove it

from the original circuit.

Then, find the
Norton current (for the current

to

source in the Norton ecuivalent
circuit), place a direct wire (short)

connection between the load points
and determine the resultant current.
Note that this is

step exactly

F-

=l

|

Rkt

TA

Tu_s.

'I:I-..lr = lgr + -‘I.r."

B,

T

opposite the respective step in Thevenin's Theorem, where we replaced the load

resistor with a break (open circuit).

With zero voltage dropped

between the load resis tor

connection

points, the current through R; is strictly a

function of B1's voltage and R1's resistance:

7 amps (I=E/R). Likewise, the current
through Rz is now strictly a function of B>'s

voltage and R3's resistance: 7 amps (I=E/R).

Marion Equivalent Sl

Bicea (1 R :':[LE 0 K.
oo H:ll'llﬂ.i'_ 61
14 .a.l
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The total current through the short between the load connection points is the sum of
these two currents: 7 amps + 7 amps = 14 amps. This figure of 14 amps becomes the
Norton source current (Inorton) in our equivalent circuit.

Current through load of 2Q resistor =14 X .8 /2.8 =4 Amp.

Maximum Power Transfer Theorem

In a linear bilateral network containing an independent voltage
source in series with resistance Rs delivers maximum power to the load resistance Ry
when RL=Rs

Let us consider a circuit shown in fig(a)

Current [= Vs
Rs+RI

Power delivered to the load P = I?2Ry, = ( rs

)2 Re
Rs+RI1
To find the value of Ry for optimum power transfer differentiate P;, with respect to Ry, and

equal to 2nd

drl [(Rs+Rl)2—2Rl(Rs+Rl)
= 2 = Rye
dRl V (Rs+RD2 ] Q
= (Rs+R1)* =2 Ry (Rs/+RL)
=>Rs+ Ry, = 2R, R,
= Rs=RL

Maximum power willbe = (Vs/2Ry)% x R, = Vs2/4R.,

Example

Find the value of Ry for the given network below = ‘ ' I
that the power is maximum? And also find the Max Power | ' '
through load-resistance Ri by using maximum power transfer 19 3120
theorem? |

(O

Solution A 2

For the above network, |
we are going to find-out the value of Y
unknown resistance called “Ry”. In .
previous post, | already show that when 8aS 2120
power is maximum through load- l
resistance is equals to the equivalent I
resistance between two ends of load- A o
resistance after removing. L

So, for finding load- - 3770
resistance Ri.. We have to find-out the 2405 s 8o, .
equivalent resistance like that for this | Re/R = 3770
circuit. Iif
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Now, For finding Maximum Power through
load-resistance we have to find-out the value of V.. Here,
Vo.cis known as voltage between open circuits. So, steps are

For this circuit using Mesh-analysis. We get
Applying Kvl in loop 1st-
6-611-811+812=0

1411481p=-6 e, (1) BY

Again, Applying Kvl in loop 2nd:-
-812-512-121,+811=0
811-25I,=0 s (2)
On solving,eqn (1) & eqn (2), We get
[1=0.524 A
[=0.167 A
Now, From the circuit Vo is
Va-512- V=0
Vo./ Vag= 512 = 5X0.167 = 0.835v
So, the maximum power through the Ry, is given by:-
Vi

pmn'= a0

4R,

; 0835
4% 377

oo

Pre= 0.046 watt

l B8R 2

A B

,——4.v‘,‘ .‘\’_‘ ‘v‘A'V'-'-'

50
BV i > >
/D Z80Q /g 2 120

&

A 8
a0 _[
A

-:A: 120
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Milliman’s Theorem

This theorem states that Any number of current sources in parallel may be
replaced by a single current source whose current is the algebraic sum of individual
source currents and source resistance is the parallel combination of individual source
resistance.

The alternative statement of Milliman’s theorem is Any number of voltage
source Vi, Vg, V3, ---------- Vn having source resistance Ri, Rz, Ry Ru
respectively connected in parallel may be replaced y a single voltage source V, and

resistance R, where
1 1 1
Vo= where Gi1= _,G2= __ etc.
G1+G2+———+Gn R1 R2
The above two statements are identical because a voltage source can be

connected in to current source and vice-versa.
Reciprocity Theorem

The Reciprocity theorem states that if the source voltage and zero
resistance ammeters are integrated, the magnitude of the current through the ammeter
will be the same. In lead the principle states that in a linear positive network, supply
voltage V and current I are mutually transferable. The ratio of V and I is called the
transfer resistance.

Problem 1
/
10 >
_L—-'"e“'."\f‘ —T—"J"v'"'." o =
N\ < L < ——
1A | ’ ) 1< <30 —1V
\ / < "
L :
L . .
Find the current / in the circuit shown in the figure. using superpaosition
theorem
Solution
10 J—-» 10 ‘—'>
L — T AN ——— ———— AN ANN—9——
2a | 2a |
o - ,"‘ ~ N - ‘_"
10 3Ings | )1v {+]1A 10 < In<

I i | 1 [ 1

() Voltage Source acting alone  (il) Current Source éc!mg alone

ForFiguie () /' =—- ; A

For Figure (il) /" =1 X ——= == A

By supeiposition, [ = (I"+ 1" = _% +l? =1
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Problem 2

| 5Q
VWA @ B
@v 2::2\!, (DaA
=
S 4

Use superpeosition theorem on the circuit shown in figuie to find |

Solution
50 i 50 L0
— Y -,s_<../\ o __/V\_A/_.(\./..\ 2 ‘
P | - . A | 2
o5 N < N 2 7\
1\19 ) P 22w ) 202w |\f J2A
o V—/ I N “/' I-Yr + T
x

(1) Voltage sourcovacu'ng avlom (1) Current source acli—ng alone

For Fig. (i), by KVL, 5i" = 2wx" + 2" =10 with v = =2/
> T +4i"=10
= "=10/11A

For Fig (ii), by KCL at node (x)

”

2 v W
2=i, +i" =-?‘+l” ()

But loop analysis in the left loop gives,
50 +3v =0
0l i" =— l;-v:_'

”

From (i), 2= —ri‘— _dyr

'Y

... 20
=2 Y = ew—

=T
o 30 20\_12
- -‘3"(“7’-11"

So, by supeipasition theorem total cuirent

2
= “-'_I-n):(ll_ol__%]___._.;A
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Problem 3

*

Draw the Thevenin's equivalent of the ciicuit in figure and find the load
current, i. All values are in ohm

Solution
Open circuiting the terminals,

1 1
YN
oY — aVa—
"<It " 1% ’2 VOC
15 2 <
[ [

By KVL for two meshes,
3f' s, fz = IO
and —; +4iy =-35

Solving. i, =5/11 and iy =-5/11

V= (54 2)= 5-19 i§v

,(,é 'T

10

5
Equivalent iesistance, sz 10 )
th = 51342 Tk
Vo __A5/11 45

So, the load cunent is, [ = =1,20625 A

R, +2 10/11+2 32

win
o)
o
~
—ANY
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Problem 4

% W - a0
AN - NN A
20 é
R 2Q<
I/l(;\ll <40
el
4V,
l - 5

Find Thevenin's equivalent about A8 for the ciicuit shown in figuie

Solution
Oper-citcuiting The 4 Q 1esistar, by KCL,

.. 40
AN - AN —e A
20 l .
1 202
@ a
=
.8
Ve =V 40
AN AN A
20
. 202
10 \D fse
T T av,
"
V.-10 .
e =, =410,
= V=10V

Shoit-circuiting the terminals AB, by KCL,

K-10 ¥

S =y = 400- X))
. _ 180 .
‘,I=W.=9_47\'

5 L =23l a3k

4
R,,,=-!'-@-=4zzn

—
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Problem 5

Velity the Recipiocity Theorem for the netwark shown in the figure using

cument souce and a voltmeter. All the values are in ohm.

lﬁwtﬁu

f—

1 f‘r{ a 1-‘-1_:
Solutian

I_Iaing a8 culrent sowce and a valtmeten,

m
i

¥

Let, &4, &2 be node voltages, vy be the volimeter reading

= 4 Lx =3

1 201
dTATa e At
iy qtj 11“:% an B L3 (:_vj
By KCL,

Atnode (1) = 3& —ey — 24, =0 (i)

Atnode (2) = —Oe + 13e; — 3y, =0 (00)
Al node (3) Dy = Sea (i)

From (i) = —6e, + 13 %X v, — 3w, =0

5
> e +(—-—1;7—3)v| ~0
= 6(/] +-l—(512-\.~l =)(-' :127—‘.-'

From ) = 3x 10y — 2y =2
il ¥ .?Ll.
=(%)-(3)w

Interchanging the positions of the cunrent source and the voltmeter,

Now, let vz be the voltmeter reading

<V> 10 3N 50

iz
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By KCL,
At node (1) == 3y, =~ a3 (V)

At node: (2) = —6vas + 13¢; — 3¢3 =0
- —Ovs + 13 =<3vay —3ey =0
== €1 = 1 1vs (V)

Al node (3) = Sy — Sy + Doy — 204, =0
= 2()f2 == 9("3 — 5(."_» =9 =<1 ‘V: — 5 x 3"2 =84\’2

=(=)-E)=

From eqguations (A) and (B), Recipracity theorem is proved
Problem 6

Find the load cuirent using Miliman’s theoiem. All values are in ohm.

=3
o]

wd 'y

— N

Solution
Hele, & =1V, Ez2=2V,. E3=3V

Zy =19, 7,20 73=3Q

SYI=1 8. Y2=05 0. Ya= (&)

1
3

By tillman's theorem, the equivalent circuit 18 shown,

3
ZIEfY' lxl+2><0.5-+-3><-l 3 18
'F:l- = 3:—'—-:——\’
T 3 | 11 11
2:.” 1+0.5+ 3 e
=i
an 2},‘
i
18
2 /s 11 18 9
I = - = K
Z 4+ 10 6+|0 116 58
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CHAPTER-3
POWER RELATION IN AC CIRCUITS
&

TRANSIENT RESPONSE OF PASSIVE CIRCUITS

TWHAT IS ALTERNATING CURRENT (A.C.)

Alternating current is the current which constantly changes in amplitude,
and reverses direction at regular intervals. We know that direct current flows only in
one direction, and that the amplitude of current is determined by the number of
electrons flowing past a point in a circuit in one second. If, for example, a coulomb of
electrons moves past a point in a wire in one second and all of the electrons are moving
in the same direction, the amplitude of direct current in the wire is one ampere.
Similarly, if half a coulomb of electrons moves in one direction past a point in the wire in
half a second, then reverses direction and moves past the same point in the opposite
direction during the next half-second, a total of one coulomb of electrons passes the
point in one second. The amplitude of the alternating current is one ampere.

PROPERTIES OF ALTERNATING CURRENT

An A.C. source of electrical power
changes constantly in amplitude and the*
changes are so regular Alternating voltage and 0
current have a number of properties associated -
with any such waveform. These basic properties
include the following list:

/A NVA
NV

Time _ »

Frequency
One of the most important properties of any regular waveform identifies

the number of complete cycles it goes through in a fixed period of time. For standard
measurements, the period of time is one second, so the frequency of the wave is
commonly measured in cycles per second (cycles/sec) and, in normal usage, is
expressed in units of Hertz (Hz). It is represented in mathematical equations by the
letter ‘f".

Period

Sometimes we need to know the amount of time required to complete
one cycle of the waveform, rather than the number of cycles per second of time. This is
logically the reciprocal of frequency

Wavelength

Because an A.C. wave moves physically as well as changing in time,
sometimes we need to know how far it moves in one cycle of the wave, rather than how
long that cycle takes to complete. This of course depends on how fast the wave is moving
as well. The Greek letter (lambda) is used to represent wavelength in mathematical
expressions. And, A= c/f. As shown in the figure to the above, wavelength can be
measured from any part of one cycle to the equivalent point in the next cycle.
Wavelength is very similar to period as discussed above, except that wavelength is
measured in distance per cycle while period is measured in time per cycle.
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Amplitude

Mathematically, the amplitude of a sine wave is the value of that sine wave
at its peak. This is the maximum value, positive or negative, that it can attain. However,
when we speak of an A.C. power system, it is more useful to refer to the effective voltage
or current.

THE SINE WAVE

In discussing alternating current and voltage, you will often find it
necessary to express the current and voltage in terms of maximum or peak values, peak-

to-peak values, effective values, average values Voltaoe and
or instantaneous Va‘iues. Fach of thede values > h
Vo current in phase

has a different meaning and is used to describe yan\i
a different amount of current or voltage. Im \ / x

Peak Value[Ip] Time —o
Refer to figure, it is the maximum \ /

value of voltage [V,] or Current [Iy]. The peak

value applies to both positive and negative Fig. 1.6

values of the cycle.
Peak-Peak value [Ip-p]

During each complete cycle of ac there are always two maximum or peak
values, one for the positive half-cycle and the other for the negative half-cycle. The
difference between the peak positive value and the peak negative value is called the
peak-to-peak value of the sine wave. This value is twice the T
maximum or peak value of the sine wave and is sometimes

used for measurement of ac voltages. Eﬁ to
Note the difference between peak and peak value
to-peak values in the figure. Usually alternating voltage and |
current are expressed in effective values rather than in T
peak-to-peak values. Saelauke

INSTANTANEOUS VALUE i

The instantaneous value of an alternating voltage or current is the value of
voltage or current at one particular instant. The value may be zero if the particular
instant is the time in the cycle at which the polarity of the voltage is changing. It may also
be the same as the peak value, if the selected instant is the time in the cycle at which the
voltage or current stops increasing and starts decreasing.

There are actually an infinite number of instantaneous values between
zero and the peak value.

AVERAGE VALUE

The average value of an alternating current or voltage is the average of all
the instantaneous values during one alternation. Since the voltage increases from zero to
peak value and decreases back to zero during one alternation, the average value must be
some value between those two limits.
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The average value of A.C. is the average over one complete cycle and is
clearly zero, because there are alternately equal positive and negative half cycles.

2
Average voltage = _ x peakvalue
T

ROOT MEAN SQUARE VALUE

Circuit currents and voltage in A.C. circuits are generally stated as root-
mean-square or rms values rather than by quoting the maximum values. The root-
mean-square for a current is defined as the value of steady state current which when
flowing through a resistor for a given time produces the same amount of hit as
generated by the alternating current when passed through the same resistor for the
same time.

17 |
| = |— [ 2dt I ="
rms — | -
T | rms /2
Vis =1.11
Form Factor = vV
ave

It is the ratio of RMS value to average vale of voltage or current.

SINE WAVES IN PHASE

When a sine wave of voltage is applied to a pure resistance, the resulting
current is also a sine wave. This follows Ohm’s law which states that current is directly
proportional to the applied voltage. To be in phase, the two sine waves must go through
their maximum and minimum points at the same time and in the same direction as
shown in the figure.

Voltage wave E1 E>
Current wave
90
! I I ' 00 ®™\ 270\ |
0 _ )\
0_ 90 180 Time T_ f
is .
Time
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Sine Waves Out of Phase

Figure shows voltage wave E1 which is considered to start at 0° (time
one). As voltage wave E1 reaches its positive peak, voltage wave E2 starts its rise (time
two). Since these voltage waves do not go through their maximum and minimum points
at the same instant of time, a phase difference exists between the two waves. The two
waves are said to be out of phase. For the two waves in figure, the phase difference is
90°.

PHASORS
In an a.c. circuit, the e.m.f. or current vary sinusoidally wih time and may
be mathematically represented as
E = EO sin wt
and [=10sin (wt = 6)
Where 0 is the phase angle between alternating e.m.f. and current.
Displacement of S.H.M. also varies sinusoidally with time i.e.
Y =Asin wt
And its instantaneous value is equal to the projection of the amplitude A
on Y-axis. Therefore,instantaneous values of alternating e.m.f. (E) and current (I) may be
considered as the projections of e.m.f. amplitude (E0) and current amplitude (I0)
respectively. The quantities, such as alternating e.m.f. and alternating current are called
phasor. Thus a phasor is a quantity which varies sinusoidally with time and represented
as the projection of rotating vector.

PHASOR DIAGRAM

The generator at the power station which produces our A.C. mains rotates
through 360 degrees to produce one cycle of the sine wave form which makes up the
supply.

In the next diagram there are two sine waves.

They are out of phase because they do not start from zero at the same time.
To be in phase they must start at the same time.

The waveform A starts before B and is LEADING by 90 degrees.

0_ ' 90_1% 270  3¢0_ AB

Waveform B is LAGGING A by 90 degrees.

The next left hand diagram, known as a PHASOR DIAGRAM, shows this in another way.
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It is sometimes helpful to treat the phase as if it defines a vector in a
plane. The usual reference for zero phase is taken to be the positive x-axis and is
associated with the resistor since the voltage and current associated with the resistor
are in phase. The length of the phasor is proportional to the magnitude of the quantity
represented, and its angle represents its phase relative to that of the current through
the resistor. The phasor diagram for the RLC series circuit shows the main features.

AV

VL ch \A XL lxc
\ Z
. Y/
| VR [0 \VA =

Vey

Note that the phase angle, the difference in phase between the voltage and
the current in an A.C. circuit, is the phase angle associated with the impedance Z of the
circuit.

AC SERIES CIRCUIT

RESISTANCE AC CIRCUIT
A resistance R connected to an ac source is shown. Its voltage can be
written as
& =En,snwt
I=1,sinwt

= Emsnwt =1_snwt
R

The above two equations depict that voltage and current in resistive
network are in phase. Figure shows the voltage and current waveform and phasor
diagram.
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POWER IN RESISTIVE NETWORK

The instantaneous power 8=
curve is plotted in figure it is seen that i i
the power curve is always positive in ;‘f g, A
case of resistive network and equal to i | \L
Y 7 Tine —

p:etXi:EtmImSinZ\Nt:E | (1—00;52\Nt\|: Etn;lm_Etglm

"™ )

The above power equation shows that the power has two components, one is

xCOS 2wt

I
constant i.e. Bl & an ac component _™ ™ cos2wt . The average value of ac component

2 2
E[mlm = E‘[m X Im

2 22

in one cycle is zero. Therefore Average power p =

Inductance AC Circuit

Figure shows an inductance

L connected to an ac supply which voltage Er 1 = E
is givefl by v=E;,sShwt, i= Cr\', E 3L
: )
m | 2 | LY aQ°© L
\ )
Er =E_ I=1
The above equation shows
ETm

that current lags the applied voltage by 90 Where | n ~ , the quantity WL controls the

wL
current inductor and this quantity WL is known as inductive reactance denoted X

Hence X, =wL

POWER IN INDUCTIVE NETWORK

The instantaneous power in a purely inductive network is
: T
S|n| wt—— |

L2

p=e xi=E snwtx]
T m m
= —E; |, SN wt.coswt
_ —E; I, Sn 2wt
2

The average power in a pure inductor during a cycle is zero.
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CAPACITANCE IN AC CIRCUIT

Figure shows a capacitor C connected to an ac source equation of voltage &
current are given below

v=V snwt, | sin|vvt+E

m m |
L ?)

1
| = Vu Where _~ 5 known as

m

Equation shows that current leads voltage by 90'and

capacitive reactance denoted as X, . Its unit is ohm.

\orms < i v ol >
& | < | \W me ‘ v

= | |

| |

|

4 f 4 f i f I af |
- | | - | - |

Chargs leohargs Uhaige Distnans

POWER IN CAPACITIVE NETWORK

The instantaneous power in a p(urely 7%a\pacitive network is
p=vxi=V snwtx| sn, wt+~
A
VI, sin 2wt
2
The average power in a pure capacitive network is zero.

SERIES RL NETWORK
R ;y kt ‘L Z Et ®
~ X. I I
1 Eg R
Voltage Impedance 1 Egq

Er =Eq+ E
L =lg=1,
Figure shows a resistor (R) and inductor (L) series network with its phasor
diagram and impedance diagram. As discussed earlier E; isin phase with [ and E, leads

[ by 90'.
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E=E +E, =1 (R+jX.)
Hence = 1Z=1(R+ jX,)
= Z=(R+jX.)=R+ juL

Where magnitude of Z = /R? + X ?

The quantities R, X ,Z are shown in the impedence diagram.

POWER IN SERIES RL NETWORK

The average power in RL series circuit is
ETmlm ETm Im
p= cosh = . " co5) = E, | cosd
2 V2 2
. . R E om. . E,
E 1 cosO is known as active power. p=E Icosh =E | = T .IR=I1°R.I= "
T T T
zZ Z z
g - —
e 9 T "
; Time —=

TR 4
Thus the active power in ac circuit represents the power dissipated across

resistance. It is measured in watt. The product of RMS voltage & current i.e. VI is known
as apparent power and measured in volt ampere. The ration of active power to apparent

power equals to cosD where 0 is the phase angle between V & I. The term cos0 is called

44




power factor of the circuit. The power factor is zero in case of pure inductive or
capacitive network. The power factor of a circuit may be either leading or lagging. A
leading power factor means that the current in the circuit leads the voltage and lagging
power factor means the current lags the voltage. The power factor of a circuit is the ratio
of resistance to impedence .

The instantaneous power across inductor of capacitor is known as reactive
power. Thatis Q=12X_=1?wL=12Zsind = E | sin®

The reactive power does not contribute anything to the net energy transfer
from source to load. Yet it constitutes a loading of the equipment.

The apparent power VI, active power VI cos and reactive power VI sin
is also applicable in this case too. Current in RC circuit leads the apply voltage and
therefore the power factor is leading.

SERIES RCNETWORK E
Figure shows a Ep |1 VW |
series RC network ( C
"\D V- ==
ET:RI—jI:(_J) c
wC LR wC 1 Y
1z=1lRo i 'S Z2R-wb=R-jX B —E+E
= = = —LEr C
— — C
\ ) ) 1=1z=1-
X. = CapacitiveReac tan ce = -~
magnitudeofZ =, |R? + L
w’C?
SERIES R-L-C CIRCUIT
R L c '
Y Y YN |1
AVAVAV 1
Ve SR Ve
."t = I“"" I {(‘)t) Py Resistance Inductance Capacitance
© -¢ o ("ﬁ’\‘) {“in-phase”) (‘EL17) (p“ICE']
s Ve
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Vg

- X=X - X

e
Pl PP |

<
3]

Consider a series R-L-C circuit as shown in the figure. The voltage Vyis in
phase with the current, the voltage V leads the current by 90 and the voltage V _lags the
current by 90'. The total impedence

L=272x+2Z +2Z.
=R+ j (XL - Xc)

We can find that the reactance is positive if X > X and negative if

X > X_. If X_ > X. the circuit behaves like an R-L series circuit and current lags

voltage by an angle 0 if X > X, the circuit behaves as an R-C series circuit and current
leads the applied voltage by angleO . The phasor diagram for both cases are shown.

The magnitude of the impedence is given by

|Z|:\/R2+(XL_XC)2 i=V—S

z

w- 1

0 = tanl—WC
R
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Transient Response of Simple Circuit (DC)

Circuits that contain capacitors and inductors can be represented by
differential equation. If a circuit contains one resistor and one Inductor (or one
capacitor), it can be represented by first order differential equation. On the other hand if
a circuit contains a resistor, inductor and Capacitor it can be represented by a second
order differential equation. The solution of the differential equation represents the
response of the circuit. The response consists of two parts (1) Transient response (2)
Steady State response. The transient response depends on the circuit elements and initial
energy stored in it. To obtain the transient response of the network it is necessary to find
the initial state of the network.

Initial Condition

Initial condition of a circuit is important to be calculated when a change of
state occurs and the change of state of the network occurs when the switch change its
position at time t=0. The value of voltage, current derivatives of both at t=0-and t=0*,
that is immediately before and after change of switch position. Initial conditions in a
circuit depends on the past history of the network prior to t= 0-. We will assume that the
switch in the network has been in a position for a long time and at t=0, the switch
changes its position. That is we say the circuit is in steady state at the time of switching.

Initial condition in circuit elements.

1. Resistor:- By Ohm’s Law we have V= IR, if there is a change in voltage, the
current through resistance will change simultaneously. Similarly if the current
change, voltage across resistance changes simultaneously.

2. Inductor:- Current through inductor cannot change instantaneously, if the
current through an inductor before switching is zero, then the current through
inductor after switching is also zero.

i.e. i,(0*) =iL(0)=0
In the same way if the current through inductor before switching is lo, then the
current through inductor after switching is also Io. i.e. iL(0*)=iL(0")= lo.

3. Capacitor:- Voltage across capacitor cannot change instantaneously. If the voltage
across capacitor before switching is zero, then the voltage across capacitor after
switching is also zero.

Vc(0*) =Vc(0)=0
If the voltage across capacitor prior to switching is Vo then the voltage across

capacitor immediately after switching is
V¢(0*) = V¢(0)=Vo
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The equivalent from of the elements in terms of the initial condition of the
elements is shown below.

ELEMENT EQUIVALENT FORM AT t=0*/EQUATION CIRCUIT AT
t=0 t= o0
R R
L oc sC
U o a0 —_———
N —— g oc
—a h—
=] i i)
e - S
o, s

oc
G—||||—0 —
Va

To solve the initial condition of an element it is necessary to study the
steady state behavior of this element. The steady state behavior can be obtained from the
basic relations.

=LY j=cf

dt de
At t=00, Vi, = 0 hence the inductor acts as short-circuit
Similarly at t= o0, iL.=0 hence the capacitor acts as open-circuit.

Example: In the network showrcldn fig.1, the switch K is called at t=0 with the capacitor

d?i
uncharged. Find the value of i, E’ d—tlg att= 0+
R
= A
5005 l
__l__Euv 1pF _|_ c

Solution:

Apply KVL to the circuit

Rif+% I At = Voo eq. (i)

) 1

= 500i+ Fxgg&  J1dt =50 mmmmmmmmmmmm oo eq. (ii)

Ve (0*) =Vc(0)=0
Att=0* 500i (0*)+ 0=50

i(0*) = S0 _

i(0+) co0 0.1A
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Differentiating eq. (ii)

di L
50054- I s eq. (iii)
di 1 1
Att= 0+ SOOE(O-F) = - (0+)' 1=10-% =- 1x%10-8 x0.1
di
—(0*) = - 105 __
= dt(o ) 00" 2000Amp/sec.

Differentiating eq. (iii)

d2i 1 di _
500 a4z T Ta0% E—
> 500 S (9= —_L f(oq: _1__ (-2000)
dt? 1=x10-8 dt 1210
d?i 2000x108
= diz (0Y)= 500 =4x100A/sec?

Transient Response of series R-L circuit having DC Excitation.

Consider a R-L series circuit as shown in figure. The switch is closed at time t=0
Applying KVL =0

Ldi®) + Ri(t) = V r-"ﬁ AN
dt v

di(®) . Ry _V ) 1§
= @ ri0=g e () |
General solution of the differential equation o/

-R
v A |
i(t)=-+ ket

Since inductor behaves as an open circuit as switching
i(01)=0

0=Y+K or K= -
R

Therefore i(t) =V - Y eR/LO =V [1-e(R/L)Y]
R R R
Voltage across inductor Vi (t)=L 4O = yerr/my e
de Ff
Voltage across resistor Vr(t)= V[1-e(R/L)Y]
Att=0,i(t)=0, VL(t) =V Vr(t)=0

At t=00, i(t):K’ VL(£)=0, Vr(t)=V
R
Att=" i=" (1-e1) =0.632", Vi(t) = 0.368V
R R R

i(t) & V(t) are plotted in figure.
L
T :E is known as the time content and is defined as the interval after

which current or voltage charges 63.2% of its total change.
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Let us analyses the transient condition of the R-L circuit as the circuit
reaches steady state charging switch to S1

di (t)

L +Ri'(t)=0

dt

Solution of il(t) = Kle(-R/L)t
Steady state currenti(0*) =i(o0) =L
=K

1=V
R

i
]

el

=S

=
v i (t)
Therefore i'(t) = 7 e/, VIR(t) = Ve(-R/L)t Vi () = L —— = -VeCh/x

il(t) and VIR(t), VIL(t) are plotted below.

I Steady State Value

X e

- Trangient Time .‘

Transient response of series R-C circuit having DC excitation.

Consider a series R-C circuit as shown in figure. The switch S is closed at
time t=0. Applying KVL =0
Ri()+1 [1(6) dt=V — AN

Differentiating, we get ;

R d® +1i(t)=0 7
dt ¢ _ ==
General solution of this differential equation is _
i(t)=Ke-tRC
att=0*,i(0%) :;7/ "+ capacitor acts as a short-circuit at switching.

V=Kedl =K=V
R R

Therefore i(t) = e -t/RC
R
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Voltage across the resistor and capacitor are
Vr(t)=i(t).R = Vet/RC
Ve(t) =— =— — -t/RCdt

= — (-RC) e*/RC = V(1-e/RC)

Att=0,i(t) =— Vc(t)=0,Vr (t)=V

Att= o, i(t) =0, Ve(t)=V, Vr(t) =0

Att=RC i(t)=—e1=0.368—, vl
Vi(t)=V(1-e1) =0.632V 0363 %,
Let us analyze another transient "

condition of R-C circuit as the circuit reaches
at steady state (at t=00) by closing switch at point 2

Ril(t) +- 1(t) =0
Differentiating we get
R +4(t)=0

Its solution is i1(t) = Ket/RC

A

However at t=0*, capacitor keeps the steady state voltage V¢(0*) = V and

direction of il(t) during discharge is negative

i(0)=--—
- —=Ke0=K=---

i(t) =-—ewre VIg(t) = i%(t). R= -V e /e
Vel (t)=- 1(t)dt=Vere
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CHAPTER-4
RESONANCE AND COUPLED CIRCUITS

Resonance circuit:-

An electric circuit which has very low impedance at a certain frequency. Resonant circuits are
often built using an inductor, such as a coil, connected in parallel to a capacitor. The response of
the circuit to signals of different frequencies is a function of the inductance and capacitance of the
circuit and peaks at one frequency value, at which the current flow resonates most strongly with
the input signal. Resonant circuits are used in radio and television tuners to pick out broadcast
signals of specific frequencies

Tuned circuit:-Any electrically conducting pathway containing both inductive and capacitive
elements. If these elements are connected in series, the circuit presents low impedance

to alternating current of the resonant frequency, which is determined by the values of

the inductance and capacitance, and high impedance to current of other frequencies.In a parallel-
connected tuned circuit, the impedance is high at the resonant frequency, low at others.

R L c
RESONANCE — — - - I_
Consider a series R-L-C circuit
as shown in the figure. The impedence of the : \j’_:\@
circuit is given by i\

T\
Z=R+j(XL—-Xc)

where X isinductive reactance = wL and X = capacitive reactance =

L c e
Either side of resonance At resonance the valtage
the woltage drop = V-V drop equals zero
= L G E
X‘r =0
J\/\/\/_rv\(\m_l |_ ANN —e — o
short circuit
Vr \ Vi-Ve = Vr Ov
- | -
IMIN Imn " ..fl'
—+— -l —
Capacitive } Inductive Capacitive Inductive
o oxesx. | msxe Zy KerXl | XrXe
2t - ! = A = ! >
£ |
] \ Inductive and Capacitive X 2 :
= Reactances are equal here = |
@ - |
2 2 '
g E I
& I
XL - X: ————————— :
|
|
Z=R
° (_fr) Frequency. [ 0 — = >
Series Resonance {"."r ) Frequency, [

Dynamic
impedance  Series Resonance
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As frequency of the supply is increased X, increases and X. decreases. At
one particular frequency X, = X. and the total reactance of the circuit become zero. At

this particular frequency the impedence is resitive and voltage & current are in phase.
This phenomenon is known as resonance.

X, = XC
1
2n f,.C
1

= 2nfoL =

fO:
. 2n+/LC .
fois called as frequency of resonance. Impedence Z of the R-L-C series

. : \
circuit is equal to R at resonance and current is equal to _.
R

Q Factor

The ratio of capacitor voltage or inductor voltage at resonant frequency to
supply voltage is a measure of quality of a resonance circuit. This term is known as
quality factor (Q factor).

At the frequency of the resonance ( fo)

V R R
Ve _Xe_ 1
\ R 2r f,RC
Bandwidth y
I I= =
At resonant frequency current in the T | I~
R-L-C series circuit is maximum. Let us define two s
frequencies W, & W, at which current is 7071, . °7% ™ :
The frequency w,;&w, are called half power : i :
| N |
frequency. L BW
[
[
Bandwidth = wo —wy ] _
0 ‘c/" o \‘c Frequency, fr
Lowear v v Upper
frequency frequency

Where w> = upper half power frequency, wi = lower half power frequency.




Bandwidth of a Series RLC Resonance Circuit

Then the relationship between resonance, bandwidth, selectivity and quality factor for a series resonance
circuit being defined as:

1). Resonant Frequency, (f.)

R small
E Xe» XL X Xe
E
1 : H med
— T medhurm
X = X wbk-— =05 ,
- W C ‘
_Rhigh
L'JE = - . = | 0 -
I - == - | =;
LC ¥ LC St Frequency, /
2). Current, (1)
atw, I =min, . = max
| = V”"'a-‘\' — 1||""r'r‘.ax - Vr‘ﬂa:{
e Z rR:_“-LK -X '|‘J . 1 \,-J
'J . S R +|wlL-
. I LUIC I

3). Lower cut-off frequency, (f.)

F I R
Athalf power, ' = M =D.;’D;’Im

27 J2

Upper cut-off frequency, (fu)




At half power, P—m, [= Iﬂ =0.7071

2 2

Z=4J2R, X = +R inductive)

H 2L 2L LC

5). Bandwidth, (BW)

2

R R
BW = % fo-f . +(rads) or ——(Hz)
6). Quality Factor, (Q)
g. okt _X 1 A 1L
R R oCR R RYC

Relationship between O and Bandwidth of R-L1.-C series circuit

Bandwidth = w> —w;

Atw= w,, the reactance is capacity as X, > X,

Hence

Wl
At w= w, the reactance is inductive as X, > X

1
w,C

Hence w,L — =R, eq. 2

From equation1 we get W?LC + WRC -1=0




Dividing by LC we get w? +w R

R

W = +

Similarly from equation 2

WZ—EW —1_:0

2 L 2 LC
R [r

W,

Hence bandwidth

The Parallel Resonance Circuit

In many ways a parallel

_ _+_
Yoo V42 Le

1

2L 4.2 LC

resonance circuit is exactly the same as the

series resonance circuit we looked at in the previous tutorial. Both are 3-element
networks that contain two reactive components making them a second-order circuit,
both are influenced by variations in the supply frequency and both have a frequency
point where their two reactive components cancel each other out influencing the
characteristics of the circuit. Both circuits have a resonant frequency point.

The difference this time however, is that a parallel resonance circuit is

influenced by the currents flowing
parallel LC tank circuit. A tank circuit is

through each parallel branch within the
a parallel combination of L and C that is used in

filter networks to either select or reject AC frequencies. Consider the parallel RLC circuit

below.

Circulating
Curants

3

e

=~

/
:IR 1. ¢ EIc
tml
R L = | T

/




Let us define what we already know about parallel RLC circuits.

. j 2
7 ! § e

Admittance, ¥ = — = /G -B

weaths

Conductance, G =

Inductive Susceptance, B =

Capacitive Susceptance, B, = 2n fC

A parallel circuit containing a resistance, R, an inductance, L and a
capacitance, C will produce parallel resonance (also called anti-resonance) circuit when
the resultant current through the parallel combination is in phase with the supply
voltage. At resonance there will be a large circulating current between the inductor and
the capacitor due to the energy of the oscillations, then parallel circuits produce current
resonance.

A parallel resonant circuit stores the circuit energy in the magnetic field of
the inductor and the electric field of the capacitor. This energy is constantly being
transferred back and forth between the inductor and the capacitor which results in zero
current and energy being drawn from the supply. This is because the corresponding
instantaneous values of I, and I¢ will always be equal and opposite and therefore the
current drawn from the supply is the vector addition of these two currents and the
current flowing in Ig.

In the solution of AC parallel resonance circuits we know that the supply
voltage is common for all branches, so this can be taken as our reference vector. Each
parallel branch must be treated separately as with series circuits so that the total supply
current taken by the parallel circuit is the vector addition of the individual branch
currents. Then there are two methods available to us in the analysis of parallel
resonance circuits. We can calculate the current in each branch and then add together
or calculate the admittance of each branch to find the total current.

We know from the previous series resonance tutorial that resonance
takes place when Vi = -V¢ and this situation occurs when the two reactance are
equal, X1 = Xc. The admittance of a parallel circuit is given as:

Y=G+B_ +B_

1 1 -
=_ + wls
VER Y r tlec
or
_1 1 o
Y—§+2‘_ﬂ_+£nfc




Resonance occurs when X, = Xc and the imaginary parts of Y become zero.

Then:
. N 1
X =X = Znfl = 5—=
2 1 |
’ 2nL«27C 47 LC
f = i :l
{47 LC
= “,_ (Hz) or o = 1_ [rads)
2n LS 4+ LC

Notice that at resonance the parallel circuit produces the same equation
as for the series resonance circuit. Therefore, it makes no difference if the inductor or
capacitor is connected in parallel or series. Also at resonance the parallel LC tank circuit
acts like an open circuit with the circuit current being determined by the
resistor, R only. So the total impedance of a parallel resonance circuit at resonance
becomes just the value of the resistance in the circuit and Z = R as shown.

Either side of resonance the Atresonance the
current = I - I¢ reachve current 1s zero
Tiany I - Ie Trarn

f>‘<,

R Xr=oao
open circuit

'

Impedance in a Parallel Resonance Circuit

Note that if the parallel circuit’s S
impedance is at its maximum at resonance then
consequently, the circuit’s admittance must be at its Capacitive
minimum and one of the characteristics of a parallel |47 %

Inductrve

XL Xe
—_—

resonance circuit is that admittance is very low limiting the
circuits current. Unlike the series resonance circuit, the Dynamic
resistor in a parallel resonance circuit has a damping impedance
effect on the circuit’s bandwidth making the circuit ' v ~ N
less selective. ° - Froquency. /'

I
Farallal kesonance




Also, since the circuit current is constant for any value of impedance, Z,
the voltage across a parallel resonance circuit will have the same shape as the total
impedance and for a parallel circuit the voltage waveform is generally taken from across
the capacitor.

We now know that at the resonant frequency, fr the admittance of the
circuit is at its minimum and is equal to the conductance, G given by 1/R because in a

parallel resonance circuit the imaginary part of admittance, i.e. the susceptance, B is
zero because Br = B¢ as shovn.

Bandwidth & Selectivit v of a Parallel Resonance Circuit

The bandwidth of a parallel resonance circuit is defi ed in exactly the
same way as for the series resonance circuit. The upper and lower cut-off frequencies
given as: fupper and flower respectively denote the half-power frequencies where the
power dissipated in the circuit is half of the full power dissipatec at the resonant
frequency 0.5( I? R ) which gives us the same -3dB points at a current value that is equal
to 70.7% of its maximum re< onant value, ( 0.707 x I )2 R.

As with the series circuit, if the resonant frequency re ains constant, an
increase in the quality facta,Q will cause a decrease in the bandwidth and likewise, a
decrease in the quality factor will cause an increase in the bandwidth ¢ s defined by: BW

=fr/Q or BW =f2-_f2.

Also changing the ratio between the inductor, L and tl e capacitor, C, or
the value of the resistance, R the bandwidth and therefore the frequency response of the
circuit will be changed for a fixed resonant frequency. This technique is used extensively
in tuning circuits for radio and television transmitters and receivers.

The selectivity or Q-factor for a parallel resonance circuit is generally
defined as the ratio of the circulating branch currents to the supply current and is given
as:

_ Vout
Vin

R _onfCR=R

Quality Factor, Q = S/l ‘l

=l

o707 j_ZHE__J
Note that the Q-factor of a parallel resonance
circuit is the inverse of the expression for the Q-factor of the
series circuit. Also in series resonance circuits the Q-factor
gives the voltage magnification of the circuit, whereas in a
parallel circuit it gives the curent magnification

Lewer Unpar
frequency frequency




Example Nol

A parallel resonance network consisting of a resistor of 60Q, a capacitor of 120uF and an inductor of 200mH is
connected across a sinusoidal supply voltage which has a constant output of 100 volts at all frequencies.
Calculate, the resonant frequency, the quality factor and the bandwidth of the circuit, the circuit current at
resonance and current magnification.

o =

= R =600 L =200mH C = 120uF
1. Resonant Frequency, f:

V.= 100V

A

L 1 _ 32.5Hz

o~ .
2rflC onfor 120107

2. Inductive Reactance at Resonance, X,

X, - Z2nfL - Zn32.5.02 - 4D.8u

3. Quality factor, Q

R R B0
) — 1.47
X Z=/L 408
4, Bandwidth, BW
Bwy _ Lo _ 323 oo,
Q 147

so= 4 - Jew = 325- Tieey - 21 512
R _
uo A dBw 3250 22y 43.5Hz

6. Circuit Current at Resonance, I+

At resonance the dynamic impedance of the circuit is equal to R

7. Current Magnification, lms

Ip:,z.; = QAx[ =147 =167 = 245A
Note that the current drawn from the supply at resonance (the resistive current) is only 1.67 amps, while the
current flowing around the LC tank circuit is larger at 2.45 amps. We can check this value by calculating the
current flowing through the inductor (or capacitor) at resonance.
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COMPARISON BETWEEN SERIESAND PARALLEL RESONANCE:

Similarities:
(1) AtResonance Condition the Power Factor of the RLC Series Circuitis Unity.

At Resonance Condition, the power factor of the RLC parallelCircuit Also
Unity(1).

(2) The equation of Resonant Frequency of RLC series Circuit is,

1 L= Inductance

b= 2.+ L C = capacitance

The equation of Resonant Frequency of RLC Parallel Circuit is,

1 L= Inductance

&= 2.+ L C=capacitance
(3) The Bandwidth of RLC series circuit at Resonance Condition,

fr  fr=resonance frequency

BW = Q Q=Qfactor

The Bandwidth of RLC parallel circuit at Resonance Condition,

fr  fr=resonance frequency

BW = Q@ Q=Qfactor

(4) The equation of Half Power frequencies for RLC series circuit,

0 =/ @102

The equation of Half Power frequencies for RLC Parallel Circuit

0=/ o102




APPLICATIONS OF SERIES RESONANCE CIRCUIT:

(1) The main application of Series Resonance circuit is Tuning. They areused for
Tuning purpose.

(2) series Resonance circuit also used as Oscillator Circuit.
(3) Series resonance circuit is used as a Voltage Amplifier.

(4) Series Resonance circuits are used in the communication system forsignal
processing.

(5) series resonance Circuit also used as High-frequency filter circuit.

APPLICATION OF PARALLEL RESONANCE CIRCUIT:

(1) The parallel resonance circuit is also used for Tuning purpose.

(2) The parallel resonance circuit is used in Induction heating system.
(3) The parallel resonance circuit is used as a Current Amplifier.

(4) The parallel resonance circuit is also used as a filter circuit.

(5) The parallel resonance circuits are used in RF amplifiers.

Difference Between Series and Parallel Resonance Circuits

Now we are going to learn about basic difference between series and parallel
resonance circuits

Series Resonance Circuits Parallel Resonance Circuits
1. Series Resonancecircuitisan Parallel Resonance circuit isan rejecter
acceptor circuit. circuit

2. At resonant the impedance is a
maximum equal to the resistance in At resonance the impedanceis
circuit. maximum nearly equal to infinity.




3. In resonance Current at resonance
ismaximum = V/R

4. In Series circuit power factor is
unity

5. Series circuit magnifies voltage

6. Series resonance magnification
in WL/R

7. In series resonance effective
impedanceis R whichisR=V/
Resonant current

8. Series Resonance used in the
turning circuit to separate the wanted
frequency from the incoming frequency
by offering low impedance of that
frequency

In Parallel circuit current at resonance
isminimum = V/(L/CR)

In parallel power circuit power factor
IS unity

Parallel resonance circuit magnifies
current

Parallel resonance circuit
magnification isWL/R

In parallel resistance effective
resistanceis L/CR

It is basic difference between series and
parallel resonance circuits

Parallel Resonance used to present a
maximum impedance to wanted
frequency usually in the plate circuit of
values.




CHAPTER 6
LAPLACE TRANSFORM

The Laplace domain or the "Complex s Domain" is the domain into which
the Laplace transform transforms a time-domain equation. s is a complex variable,
composed of real and imagirary parts:

3= + j&

The Laplace domain graphs the real part (o) as the horizontal axis, and
the imaginary part (w) as the vertical axis. The real and imaginary parts of s can be
considered as independent quantities. The similarity of this notation with the notation
used in Fourier transform tk eory is no coincidence; for & = 0, the Laplace transform is
the same as the Fourier transform if the signal is causal.

The mathematical definition of the Laplace transform is as follows:

F(s) — ﬁ T ft)e—* at

The transforn, by virtue of the definite integral, rem ves all t from the
resulting equation, leaving instead the new variable s, a complex numt er that is normally

written as § = & + J% In essence, this transform takes the function f(t), and

"transforms it" into a function in terms of s, F(s). As a general rule the transform of a
function f(t) is written as F(s). Time-domain functions are written in lower-case, and the
resultant s-domain functions are written in upper-case.

We will use the following notation to show the transforn of a function:
F(t) & F(s)

We use this notation, because we can convert F(s) back into f(t) using
the inverse Laplace transform.

The Inverse Transforn
L{f{t)}=sF(s)— f(b)
Initial Value Theorem

f{0) < lirr sE'{s) 58




This is useful for finding the initial conditions of a function needed when
we perform the transform of a differentiation operation.

59




Final Value Theorem

Similar to the Initial Value Theorem, the Final Value Theorem states that
we can find the value of a function f, as t approaches infinity, in the laplace domain, as
such:

lim f{t) < limsFis
!—,*—-ac;f-‘ / g—0 S :‘

This is useful for finding the steady state response of ¢ circuit. The final
value theorem may only be gpplied to stable systems.

Laplace Transformati am of Signal Waveform

: R |
Laplace transform of unit step function is _
S

1
Laplace transform of ramp function is —
S

Laplace transform of unit impulse function is unity.

The laplace transform can be used independently or different circuit
elements, and then the circuit can be solved entirely in the S Domain (Which is much
easier). Let's take a look at some of the circuit elements:

Resistor

Resistors are time and frequency invariant. Therefore, the transform of a
resistor is the same as the resistance of the resistor:

Risj =+
Compare this result to the phasor impedance value for a resistance r:
Z, =71

You can see very quickly that resistance values are very similar between
phasors and laplace transforms.

Ohm's Law
If we transform Ohm's law, we get the following equation:
Vis) = I{s1R

Now, following ohms law, the resistance of the circuit element is a ratio of
V(s)

. . (g . .
the voltage to the current. So, we will solve for the quantity f \5)  anc the result will be
the resistance of our circuit element.
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V{s)
I(s)
This ratio, the input/output ratio of our resistor is an inportant quantity,

and we will find this quartity for all of our circuit elements. We can say that the
transform of a resistor with resistance r is given by:

L{resistor}=R=r

R—

Capacitors

Let us look at the relationship between voltage, current, and capacitance,
in the time domain:
duit)
dt
Solving for voltage, we get the following integral:

o(t) = % T i(t)dt

21]

i{t)=C

Then, transforming this equation into the laplace domain assuming the
zero initial condition, we get the following:

. 11
Vis)

Again, if we solve for the ratio (5) , we get the following:

Vi(s) 1
I{(s)  sC
Therefore, the transform for a capacitor with capacitance C is given by:

1
L{capacitor} = e
Inductors
Let us look at our equation for inductance:
di(t)

&t

vft) =L

Putting this i r to the laplace domain assuming the zer initial condition,

we get the formula:

i

{
And solving for our ratio I'-ﬁf , we get the following:
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Vis) _
(s)

Therefore, the transform of an inductor with inductance L is given by:

sl

Impedance ﬁ{f’ndm-ﬁ'} = sL

Impedance of all the load elements can be combined into a single format
dependent on s, we call the ¢ ffect of all load elements impedance, the same as we call it in
phasor representation. We denote impedance values with a capital Z (but not a phasor £

).

s-domain t-domain s-domain
+ T 15l % STy L
A R(S}
Vals) R <::] Vil Rl < g E> Vals) R
Series model for Parallel model for
capacitor and inductor capacitorand inductor
Initial conditions modeled as voltage sources Initial conditions modeled as current sources
* 1ts) —=="
> —— 1/(sC) 4 ,_" —
ft) 1/sC
Vils) <:] ap) =g I:> V,(s) IC(S}:: Cv0)
Velols - B .

I.(s)
L E> Viss 2L i(0)s

Determining electric currentin circuits

In the netvork shown, determine the
character of the currents I Ltj, I?{t}, and I-'!";t,j assuming
that each current is zero when the switch is closed.
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Solution:

Current flow at a joint in circuit

Since the algebraic sun of the currents at any junction is zero, then
L)~ Dt) — it =

Voltage balance on a circuit

Applying the voltage law to the circuit on the left we get

dI-z ()

Litjf+ Ly = Lt}

Applying again the voltage law to the outside circuit, given that E is coIstant, we get

dlL(t)
dt

Laplace transforms of current and voltage equations

I‘lq‘i.l.R‘]_ +.§-3it;R +L3 :E{f!ﬁ

Transforming the abc ve equations, we get

1{8) — 2y fbj—a,;{b}:l]

t{s) Ry + sLlaigls) =

-I{S;R‘]_ —I_ (Ra—l_ 3.-.:_‘5;:.‘_15\5) -

o | tr

The above three Laplace transformed equations show the benefits of
integral transformation in converting differential equationsinto linear algebraic
equations that could be solved for the dependent variables (the three currents in this

case), then inverse transformed to yield the required solution

Capasitor 7, (5)= 1, (5)+ 212 5 1 (5) = ()7, (5)~ . (0)
Inductor: I (s)=sli;(s)-Li; (0) —=1,(s) [é]VLESJ i;iﬂj

Example: Find the capacitor voltage.
Vc(t) -

|
[N

05F

- +
vL(t)ng vR(t)gsg G u(t)
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+V.(s) —

yl\
_ S +
vV, (s) % S VR(S)§ 3

1
S
+VC(S) - +VR(S) -
——WW
2
_ A
W©§S )
+ 1(s)
2 3
g+ —+3|I{(zs)+—=10
oy Y
-3
= [{s)= —
3+ 33+ 2
The capacitor’s voltage
VEe=219=_  °
¢ S (s’ +3s+2)
Expanding V (s) by partial fraction

™M
¢ gs+1)(s+2) s s+l s+2

V(D) = (-3+6et ~3e %) u()
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Step response of an R-L circuit

Consider the RL circuit as shown in the

figure assuming the initial current to be zero. At t = 0 (

the switch is closed and the voltage E is impressed on
the circuit. The differential equation on application of
KVLis

Ri(t)+LM):E
=R (S) +Etrsl (S)—i (O)—| _ E
L C ;
:>I(s)[sL+R]:E-_-iL(o):O
=1(s)= 5 = E :El:_l_L—“

sL+R 4, R R[s S+RJ
L L

. . E[ &7
takinginverselL T = i(t) = _|1-e" " |
Rl ]

Step response of an R-C circuit

Consider the R-C circuit as shown in the
figure assuming the initial current to be zero. At t = 0 the
switch is closed and the voltage E is impressed on the
circuit. The differential equation on application of KVL is

Ri(t)+%ii(t)dt:E

1

takinginverseLTi(t) = Ee‘m

O -
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Step response of an R-L.-C circuit

Consider the R-L-C series circuit as shown
in the figure assuming the initial current to be zero. At t
= 0 the switch is closed and the voltage E is impressed
on the circuit. The differential equation on application of

KVLis

i) 1

—T~ C\

RO+ +E£i(t)dt:E

1l1(9)1 E
= R (s)+Ljis (s) I+ =
()+L{g @ 17 =
L
E E
s . _ L
3'(5) 4 +R+ L SZ+BS+ 1
Cs L LC
E
£

= 1(s)=
(s-s1)(s—-%)

=i(t)=Ke¥ +K g%

= Ky n Kz
(s-s51) (s-%)

Where s1 &  are the roots of the characteristic equation

S+B+ 7
Ls LC 1

Value of s, & S,can be d
R ( RY

sS=—5*\( 2L )

and K & K are constant.

2

etermined as

1

"LC
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Problem 1

In the network shovin inthe figure, the switch Sisclosed and a steady state is attained. At t = 0, the
switch is opened. Determine the cunent thiough the inductor for 1> 0,

*

5V _— L=05H

Solution
When the switch §is closed and the steady-state exists, the current thiough the inductor is,

i(()~)=%:,’5—5=2A

The voltage across the capacitor, Vg (f) =0 asitis shaited.

Fo1 t =0, the switch is opened. By KVL,

di

Ldt

1§
+'Z:£ldl=0

Taking Laplace transfoim,

Llsi(s)—i(0-))+ -,(L:—) =0
ol I(.\')[.\'L - C—ls] = Li()-)
Putting the values,
H=%2 -:m'

Taking inverse Laplace tiansform,
i(t)=2¢cos100r (A)t=0




Problem 2

A series R-L-Ccircuit withR=3Q,L =1Hand C=05F is excited with a
unit step voltage. Obtain an expression for the current, using Laplace
transform. Assume that the circuit is relaxed initially.

Solution

By KVL,

Q(0-) " |
st

RI(s) + sLI(s) — Li(0—) + % I(s)+

Since the circuit is initially relaxed,
“i(0-)=0 and QO(0-)=0

Putting the values,
f{s)[?r +5+ E] ik
§| &

l 1 4 A4,

. = = _ + ¥
)= Fases GHDGTD) s+ 542
1 . ]
where, 4, = P =1 and 4, o =—1
L $=_| _‘-.-_-_2
T L
h f{'g)_.?+l s+2

Taking inverse Laplace transform,
i(t)=e T+e 2L(A)

= 2¢*'2 sinh (%) (A)
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Problem 3

The circuit was in steady state with the switch in position 1. Find the
current (1) for t > 0 if the switch 1s moved from position 1to 2 att = 0.

10Q

1LY — S0V > 0.8H

Solution

When the switch is in position 1, steady-state exists and the initial
current through the inductor is,

10
i(0=)=—=14
1(0=) 10

After the switch Is moved to position 2, the KVL gives, in Laplace
transform,

107(s)+ 0.5s1(s)— 0.5 x 1 =2

100 ! I 1
or, I(s)= : 7 =5|—- ¥
s(s+20) s+20 |s s+20] s+20

Taking inverse Laplace transform,
i()=5-4¢7" (A);t>0;
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Problem 4

Find the response current of a series RL circuit consisting of a resistor

R =30 and an inductor L = 1 H when each of the following driving force
voltage is applied:

a. unitramp voltage (¢ -2,
b. unitimpulse voltage § (£ —2),

c. unit step voltage y (¢ -2).

Solution
a. Unitramp voltage r (1 —2)
Applying KVL to BL senes cicult,

Ri+ 1.£:v(l]:r(l - 2)
t '

Taking Laplace tansform,

(R+sL)I(s)= L

I(S)-:"—E:.-—_):(’—?‘[Al +§A+ A; ]

s° (543 y2 5§ S+t
1
3 K':. :l
S+3| L0 3
_0{[-_'__] ook |l =k
T ds| s+3 o (s+3 )2 ==
L K =‘IT =l
‘ S.' =3 ‘)
= /3 -1/9 /9
I(\):v‘ ‘[l SR e 1 : ]
5 s s+ 3
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Taking inverse Laplace tiansform,
| 1 1. a2
i()=—=u(t=2)+=r(t-2)+=e"u(t-2)  Ans.
9 3 9
b. Unitimpulse voltage &t —2)

Inthis case,

di
Ri — = —
HLdl vlr)=6(1-2)

Taking Laplace tansform,
(R+sL)i(s)=e™

-3¢ e-Zs

’("):(sz,m):(m)

Taking inverse Laplace tiansfoirm,
i()=e"u(1=2)  Ans.

¢. Unit step voltage u(r —2)

In this case,

Ri+L-Z—: =v(t)=ulr-2)

Taking Laplace transform,

~24

¢

(R+sL)I(s)=

L e e =" |
l(s)—(sl_ +R) s(s+3) 3 [.s‘ (s+3)J

Taking inveise Laplace uansform,

l(r)=%u(1 -2)—%6"('"2]1:(!-2) Ans,

B X 3{‘ 3 ( ey ——

N et ‘5\ g %) i

— R TB> '} 50,7 by M e T
s
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CHAPTER 7

TWO-PORT NETWORKS

+i1—}
\Y
- «

One-Port
Network

a) One port network is a two terminal electrical network in which, current
enters through one terminal and leaves through another terminal. Resistors,
inductors and capacitors are the examples of one port network because each
one has two terminals. One port network representation is shown in the

following figure.

b) A pair of terminals at which a signal (voltage or current) may enter or leave is

called a port.

c) Anetwork having only one such pair of terminals is called a one-port network.
d) No connections may be made to any other nodes internal to the network.

e) By KCL, we therefore haveii=i1

>
+

\'A

) <_i|1

Two-Port
Network

<_i2

i'2_>

+

\/,

= two port network is a pair of two terminal electrical network in which, current
enters through one terminal and leaves through another terminal of each port. Two
port network representation is shown in the following figure.Type equation here.

=  Two-port networks are used to describe the relationship between a pair of

terminals

* The analysis methods we will discuss require the following conditions be

met

1. Linearity

2. No independent sources inside the network

3. No stored energy inside the network (zero initial conditions)

4, i1:i1and i2=i
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Two Port Network Parameters

There are various parameters needed to analyze a two port
network. For examples, , Y parameters,

, & parameters, etc.
Let us discuss these network parameters one by one to gain a
better understanding of their application and uses.

Im pedance Parameters

= Suppose the currents and voltages can be measured.

= Alternatively, if the circuit in the box is known,V1and V> can be calculated
based on circuit analysis.

= Relationship can be written in terms of the impedance parameters.

= We can also calculate the impedance parameters after making two sets of
measurements.

Vi=z11l1+z1212
\Vo=22111+22212

If the right port is an open circuit (/2=0), then we can easily solve for two of
the impedance parameters: Similarly by open circuiting left hand port ([1=0 ) we can
solve for the other two parameters.

NP
ZH = forwardtransferimpedence :—"‘f ] =0

. F
£y, = inputimpedence = I—]‘f =0 |

I

o | o, F
| = reversetransferimpedence :j—]|f. =0 Z,, =outputimpedence = f_‘f =()
) 1

Z

1
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https://www.electrical4u.com/impedance-parameter-or-z-parameter/
https://www.electrical4u.com/admittance-parameters-or-y-parameters/
https://www.electrical4u.com/hybrid-parameters-or-h-parameters/
https://www.electrical4u.com/hybrid-parameters-or-h-parameters/
https://www.electrical4u.com/abcd-parameters-of-transmission-line/

Impedance Parameter Equivalent

1.(S) —» < 1(9
+ +
V() V()

V1=2711l1+2735l»

Vo=22111+22l2

¢ Once we know what the impedance parameters are, we can model
the behavior of the two-port with an equivalent circuit.
e Notice the similarity to Th’evenin and Norton equivalents
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Admittance Parameters

@ o &
—>» <
+ +
Two-Port
V1 V2
Network
i - P

l1=y11Vi+Y12Vo
[2=y21V1+y20\V2

Y,; = input admittance = I—1|V2 =0
\A
Y,, = forward transfer admittance = \|72|V2 =0
1
Y,, = output admittance = \—|/1~|V1 =0
2

Yy, = reverse transfer admittance = \—|/1~|V1 =0
2

Hybrid Parameters
Vi=hy1l1+h1oVo

lo=h1l 1+h2oV>

h,, = input impedance = \I—/1|V2 -0
1
h,, = forward current ratio = l|l|V2 =0
1

h,, = reverse voltage ratio = ¥|I1= 0
2

h,, = output admittance = \l/l|I1= 0
2
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Example:

Given the following circuit. Determine the Z parameters.

l1 I
80 100
N AN
+ +
Vi §20Q § 200 Vs
Z =8+ 20[30 =20Q

1~

N
|

L, = 2030 = 120
Z,=Yi|1,=0
I,

_204,X20 _ o Thereforez _ 8. =80 =z
17720430 2 z ;

I,

The Z parameter equations can be expressed in matrix form as follows.

MEEEN
[w 2 Bl
L2) L 1L 2]

Example:
Given the following circuit. Determine the Y parameters.

I
|1 10 )
AN
+ 1 +
Vi L~ S vV
S 2
= AN —
1Q
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A
+ L +
v, —1 s
1 e ~ V2 pr—
( shaii
— "M —
10
Tofindy,,
% [ 2
Vl:ll(2+1/s):|lt25+1J
I
=s+0.5

_ 1y - 1
S0 Y11 v, N1 Vi‘ V=0

Tofindy andy wereverse thingsand shortV
12 21 1

= L, =0
y21 V1| 2
I2 —
Yy = — =05S
Vi
L, 10 L
MN
short |+ ) +
V1 ::1 33
— 5 Vv,
— AN —
| 1Q
_ N _
ylz_ Vz \/1—0
V=-2I y="=05s
2 1 12 V2
y =05+
22 S
y = _IZ_‘VZO V =1 2s y :O.5+];
22
22 V2 1 2 2(S+2) s
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Problem 1

Find the Z and Y parameter for the networks shown in figure.

b.
1'e a2
& -]
.0
L - :
1 ,
d.
1'e
Solution

a. BykKVL, (Z,+Z. )+ Z.,=V]
and Z{.h T+ (Zfl 2 5 .Zt.}}rz = VE
Thus, the Z-parameters are:

=L, tZ.),z2p=23=2,, zpn=(L,+Z,)

1 e
Za zb
‘:D zc G;
L ‘ &
1] 2'
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b. By KCL,
".l e "‘s l

|
=iz o2y Ly
Z Z" &
and/, = :-h =_iy + Ly
2 A

Thus, the y-parameters are,

Vi1 =

=X M=) e

-
V-

1 i
Z ' Z
Since, Ay = ¥ V2 ~ M3bs; = 0. the z-patametess do not exist
for this netwark.

to— Z |—2

e .
¢, By KVL
\"g =
Lh+d, e 2 10 | | |
ArL o or,lv,_(,,)l|-+(r)l: and }.-(Y]I, (YJI:
Thus, the Z-parameteis aig,
. |
M= p=y=m=a
Sirce, Az = 2y 5; = )35, = U, the ypasameters do not exist
for this netwaork
d ByKCL,

L= YW+ (=)=, +Y) - IhY,
2=r ‘+uf K =K. + Vs (Y, + ¥.)

Thus, the p-parameters are:

n=bh+im=m=-Yim=L+Y
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Problem 2
a. The following equations give the voltages V; and V> at the two
ports of a two port network, V, = 5l1+2l, Vo = 211 +l5;

Aload resistance of 3 Q is connected across poit-2. Calculate the
Input impedance.

b. The z-parameters of a two port networkare z;1=5Q, 25, =2 Q, Z;5
=751 =3 Q. Load resistance of 4 Q is connected across the output
port. Calculate the input impedance.

Solution

a. From the given equations,

Vy =5l + 215 (i)

Vo =21 + 19 (i1)

At the output, Vo = — bR = — 3/
Putting this value in (i1),

—3la =2l +izfilp=—11/2

mmmgmnym=5h+[%?}=4h

d =40

.. Input impedance, Zj, = A
1

b. [Same as Prob. (a)] Zin = ? =3.50Q
1

80




Problem 3
Determine the h-parameter with the following data:
i. with the output terminals short circuited, V1 =25V, =1 A, =2
A
ii. with the input terminals open circuited, V; =10V, V=50V, [,=2
A

Solution

The A-parametier equations are,
Vi =hqi154 + Bi12V2
Iz = fa1li + Az2V2

a. With output short-circuited, Vs = 0, given: ¥y =25V, /1 =1 A and

I =2 A
= 25=h, x1
il 2 = by, 31 = M, =258, and /i, =2
b. With input open-circuited, f; = 0, given: Vv = 10V, V2 = 50V and
I =2 A,
10 = fy5 = 50 , e ’ e N
e 2:1;31x50}" = My=5=02and i3 = 5= T = 0.047

Thus, the h-parameters are:

2582 0.2
[R] = I: ':I
2 0.04 €2~

Problem 4

a. Find the equivalent mnetwaork for the T-network shown in the Fig.

(a).
b. Find the equivalent 7T -netwoark for the rrnetwoirk shown in the Fig.
(b).
Za=280 Zp=2.5C ¥Ya = 0.2 73
1 2
Zo=502
f 2
(@)
Solution

a. Let the equivalent r—network have ¥Y¢ as the series admittance
and ¥, and ¥z as the shunt admittances at poit-1 and port-2,

respectively.
Iq - ——— Iz
‘—E—GI—ILI—H—-(—.
+ -
Vl V_A VB Va

_ [ .
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Mow, the z-parameteis are given as:
Z11 = {ZA-'E'ZL}:?Q, Z|2=Zzl=z('=5£!,222 =(ZB+Z(_'}= ?.SQ

Az= (7%7.5—-5%5)=27.5Q?

G e = Za2 1.5
- Y11 e 575 (&)
- .- 5
Yiz = ¥ 5 375 (@]
Z) ¥

’ 2. |

S Y8BT (Y + Wg) = TES (&)

and ¥eo= —"}?21=%=%G

Thus, the impedances of the equivalent m-networks are:

14 550 Iz
* > hTATAVE & «—8
+ - +
Vi 110 13.75 gzé Ve
. . . o
Equivalent rr-network
e otie |
oy
B 139500 |
Ty
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The y-patameteis,
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CHAPTERS8

LOW PASS FILTER INTRODUCTION

Basically, an electrical filter is a circuit that can be designed to modify,
reshape or reject all unwanted frequencies of an electrical signal and accept or pass only
those signals wanted by the circuit’s designer. In other words they “filter-out” unwanted
signals and an ideal filter will separate and pass sinusoidal input signals based upon
their frequency.

In low frequency applications (up to 100kHz), passive filters are generally
constructed using simple RC(Resistor-Capacitor) networks, while higher frequency
filters (above 100kHz) are usually made from RLC (Resistor-Inductor-Capacitor)
components.

Passive Filters are made up of passive components such as resistors,
capacitors and inductors and have no amplifying elements (transistors, op-amps, etc) so
have no signal gain, therefore their output level is always less than the input.

Filters are so named according to the frequency range of signals that they
allow to pass through them, while blocking or “attenuating” the rest. The most
commonly used filter designs are the:

e 1. The Low Pass Filter - the low pass filter only allows low frequency signals from

OHz to its cut-off frequency, fc point to pass while blocking those any higher.

o 2. The High Pass Filter - the high pass filter only allows high frequency signals
from its cut-off frequency, fc point and higher to infinity to pass through while

blocking those any lower.

o 3. The Band Pass Filter - the band pass filter allows signals falling within a certain
frequency band setup between two points to pass through while blocking both the

lower and higher frequencies either side of this frequency band.

e 4 Band Stop Filter - It is so called band-elimination, band-reject, or notch filters;
this kind of filter passes all frequencies above and below a particular range set by

the component values.

Simple First-order passive filters (1st order) can be made by connecting
together a single resistor and a single capacitor in series across an input signal, (Vin)
with the output of the filter, (Vout ) taken from the junction of these two components.
Depending on which way around we connect the resistor and the capacitor with regards
to the output signal determines the type of filter construction resulting in either a Low
Pass Filter or a High Pass Filter.

As the function of any filter is to allow signals of a given band of
frequencies to pass unaltered while attenuating or weakening all others those are not
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wanted, we can define the amplitude response characteristics of an ideal filter by using
an ideal frequency response curve of the four basic filter types as shown.

IDEAL FILTER RESPONSE CURVES

Ap Ap Ar AF
t Low Pass Filter } High Pass Filter Y BandPass Filter 1 Band Stop Filter
Fass Stop Stop Pass Stop | Pass | Stop Fass | Stop | Pass
0 "0 " - !
fo Is o Ja o I F A

A Low Pass Filter can be a combination of capacitance, inductance or
resistance intended to produce high attenuation above a specified frequency and little or
no attenuation below that frequency. The frequency at which the transition occurs is
called the “cutoff’ frequency. The simplest low pass filters consist of a resistor and
capacitor but more sophisticated low pass filters have a combination of series inductors
and parallel capacitors. In this tutorial we will look at the simplest type, a passive two
component RC low pass filter.

THE LOW PASS FILTER

A simple passive RC Low Pass Filter or LPF, can be easily made by
connecting together in series a single Resistor with a single Capacitor as shown below.
In this type of filter arrangement the input signal (Vin) is applied to the series
combination (both the Resistor and Capacitor together) but the output signal (Vout ) is
taken across the capacitor only. This type of filter is known generally as a “first-order
filter” or “one-pole filter”, why first-order or single-pole?, because it has only “one”
reactive component, the capacitor, in the circuit.

RC LOW PASS FILTER CIRCUIT

As mentioned Resistor, R I
previously in the Capacitive
Reactance tutorial, the reactance of a
capacitor varies inversely with
frequency, while the value of the | ¥ Capacitor, C Ve
resistor remains constant as the
frequency changes. At low
frequencies the capacitive reactance, @ o

(Xc) of the capacitor will be very -

large compared to the resistive value of the resistor, R and as a result the voltage across
the capacitor, Vc will also be large while the voltage drop across the resistor, Vr will be
much lower. At high frequencies the reverse is true with Vc being small and Vr being

large.

While the circuit above is that of an RC Low Pass Filter circuit, it can also
be classed as a frequency variable potential divider circuit similar to the one we looked
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at in the Resistors tutorial. In that tutorial we used the following equation to calculate

the output voltage for two single resistors connected in series.

We also know that the capacitive reactance of a capacitor in an AC circuit

is given as:

e

Lax Pl —
C

Opposition to current flow in an AC circuit is called impedance,

symbol Z and for a series circuit consisting of a single resistor in series with a single

capacitor, the circuit impedance is calculated as:

(-

Then by substituting our equation for impedance above into the resistive

potential divider equation gives us:

RC POTENTIAL DIVIDER EQUATION

So, by using the potential divider equation of two resistors in series and
substituting for impedance we can calculate the output voltage of an RC Filter for any

given frequency.




LOW PASS FILTER EXAMPLE

A Low Pass Filter circuit consisting of a resistor of 4k7Q in series with a
capacitor of 47nF is connected across a 10v sinusoidal supply. Calculate the output
voltage (Vout ) at a frequency of 100Hz and again at frequency of 10,000Hz or 10kHz.

Voltage Output at a Frequency of 100Hz.

T i _ i
AC— ————— —
it l
A
T — i . Sak — 1N — O Qxr
Vo T ¥y ~ —_— LA T = — .5V
e - R —_— Pa=mnd | 3o 032
J Re+X5 4700 T 353805
\ ¥
Voltage Output at a Frequency of 10,000Hz (10kHz).
1
L - — + — 21IR A0
AT ATEAN AT A m s 000034
B % L 2 L QU0 = 47 > g
avs IR
iF — i T — F ¢ SO — Ny 71O, -
Vet ™ Y T — IV ; — M. LON
0 - F o | =l ' AT oy el
S KT+ X7 Af 47007 T338.6
L] ¥

FREQUENCY RESPONSE

We can see from the results above that as the frequency applied to the RC network

increases from 100Hz to 10 kHz, the voltage dropped across the capacitor and therefore

the output voltage (Vout) from the circuit decreases from 9.9v to 0.718v.

By plotting the networks output voltage against different values of input frequency,
the Frequency Response Curve or Bode Plot function of the low pass filter circuit can be

found, as shown below.
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Frequency Response of a 1st-order Low Pass Filter

Coner
| Vout Freguency
Zain — 20 log Vin fl:
I ) I,
JassBzanc | | StopBand
0dB
343 4+—-3d3 (457
Frequenc
R d y Slope =
- EELLUSE -20cB/Decade
= S
E ¥
Bandwidth
- P
Ptase fu L=) Fregquency iHz}
UF (Logarith mic Scaled
- 5*
Phass
Shift
-90° :

Frequency iHz)

The Bode Plot shows the Frequency Response of the filter to be nearly flat
for low frequencies and the entire input signal is passed directly to the output, resulting
in a gain of nearly 1, called unity, until it reaches its Cut-off Frequency point (fc). This is
because the reactance of the capacitor is high at low frequencies and blocks any current
flow through the capacitor.

After this cut-off frequency point the response of the circuit decreases to
zero at a slope of -20dB/ Decade or (-6dB/Octave) “roll-off”. Note that the angle of the
slope, this -20dB/ Decade roll-off will always be the same for any RC combination.

Any high frequency signals applied to the low pass filter circuit above this
cut-off frequency point will become greatly attenuated, that is they rapidly decrease.
This happens because at very high frequencies the reactance of the capacitor becomes
so low that it gives the effect of a short circuit condition on the output terminals
resulting in zero output.

Then by carefully selecting the correct resistor-capacitor combination, we
can create a RC circuit that allows a range of frequencies below a certain value to pass
through the circuit unaffected while any frequencies applied to the circuit above this
cut-off point to be attenuated, creating what is commonly called a Low Pass Filter.
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For this type of “Low Pass Filter” circuit, all the frequencies below this
cut-off, fc point that are unaltered with little or no attenuation and are said to be in the
filters Pass band zone. This pass band zone also represents the Bandwidth of the filter.
Any signal frequencies above this point cut-off point are generally said to be in the
filters Stop band zone and they will be greatly attenuated.

This “Cut-oft”, “Corner” or “Breakpoint” frequency is defined as being the
frequency point where the capacitive reactance and resistance are equal, R = Xc = 4k7Q.
When this occurs the output signal is attenuated to 70.7% of the input signal value or -
3dB (20 log (Vout/Vin)) of the input. Although R = Xc, the output is not half of the input
signal. This is because it is equal to the vector sum of the two and is therefore 0.707 of
the input.

As the filter contains a capacitor, the Phase Angle (@) of the output
signal LAGS behind that of the input and at the -3dB cut-off frequency (fc) and is -
450 out of phase. This is due to the time taken to charge the plates of the capacitor as the
input voltage changes, resulting in the output voltage (the voltage across the capacitor)
“lagging” behind that of the input signal. The higher the input frequency applied to the
filter the more the capacitor lags and the circuit becomes more and more “out of phase”.

The cut-off frequency point and phase shift angle can be found by using
the following equation:

CUT-OFF FREQUENCY AND PHASE SHIFT

-

H E ]
i i
1 !

r~
!

~ — - ST T
L, — - - AUIHEF
et — e — - - - . - e WF BB F
Bl o T AT Ve AT e T
R ) R R NN Py R Y AT I Y
- — T % e Ao
T3 it L3 R g - ' D B LY
Hhaoop =11t i — =arctan (A7 L G

A Aidde % LFALE AL t L S LAdEd L &adb F AN 7
L, 5 /

Then for our simple example of a “Low Pass Filter” circuit above, the cut-
off frequency (fc) is given as720Hz with an output voltage of 70.7% of the input voltage
value and a phase shift angle of -45°.

HIGH PASS FILTERS

A High Pass Filter or HPF, is the exact opposite to that of the previously
seen Low Pass filter circuit, as now the two components have been interchanged with
the output signal ( Vout ) being taken from across the resistor as shown.

Where as the low pass filter only allowed signals to pass below its cut-off
frequency point, fc, the passive high pass filter circuit as its name implies, only passes
signals above the selected cut-off point, fc eliminating any low frequency signals from
the waveform. Consider the circuit below.
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THE HIGH PASS FILTER CIRCUIT

/\ Capacltor C

—l-
v\ |

W

l Resistor, R $ Wom
° -~

o

In this circuit arrangement, the reactance of the capacitor is very high at low
frequencies so the capacitor acts like an open circuit and blocks any input signals
at Vin until the cut-off frequency point (fc) is reached. Above this cut-off frequency
point the reactance of the capacitor has reduced sufficiently as to now act more like a
short circuit allowing the entire input signal to pass directly to the output as shown
below in the High Pass Frequency Response Curve.

FREQUENCY RESPONSE OF A 1ST ORDER HIGH PASS FILTER.

Gain (dB) = 20 log /0ut

Vin
Stop Band : Pass Band
¥ Y i
0dB | — — — — — I—
_ o
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| - -
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Phase Freq!_l enu:y(Hz}
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+45°
U{l

Frequency (Hz)
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The Bode Plot or Frequency Response Curve above for a High Pass filter is
the exact opposite to that of a low pass filter. Here the signal is attenuated or damped at
low frequencies with the output increasing at +20dB/Decade (6dB/Octave) until the
frequency reaches the cut-off point ( fc ) where again R = Xc. It has a response curve
that extends down from infinity to the cut-off frequency, where the output voltage
amplitude is 1/v2 = 70.7% of the input signal value or -3dB (20 log (Vout/Vin)) of the
input value.

Also we can see that the phase angle (®) of the output signal LEADS that
of the input and is equal to+45° at frequency fc. The frequency response curve for a
high pass filter implies that the filter can pass all signals out to infinity. However in
practice, the high pass filter response does not extend to infinity but is limited by the
electrical characteristics of the components used.

The cut-off frequency point for a first order high pass filter can be found
using the same equation as that of the low pass filter, but the equation for the phase
shift is modified slightly to account for the positive phase angle as shown below.

CUT-OFF FREQUENCY AND PHASE SHIFT

A= = 5 a—
H ag:frf + Al
atlow f: Xc — o, Vout=0

athigh f: Xc — 0, Vout=Vin

HIGH PASS FILTER EXAMPLE.

Calculate the cut-off or “breakpoint” frequency ( fc ) for a simple high
pass filter consisting of an82pF capacitor connected in series with a 240k} resistor.

\
4
o
‘ 1
|
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BAND PASS FILTERS

The cut-off frequency or fc point in a simple RC passive filter can be
accurately controlled using just a single resistor in series with a non-polarized
capacitor, and depending upon which way around they are connected either a low pass
or a high pass filter is obtained.

One simple use for these types of Passive Filters is in audio amplifier
applications or circuits such as in loudspeaker crossover filters or pre-amplifier tone
controls. Sometimes it is necessary to only pass a certain range of frequencies that do
not begin at OHz, (DC) or end at some high frequency point but are within a certain
frequency band, either narrow or wide.

By connecting or “cascading” together a single Low Pass Filter circuit with
a High Pass Filter circuit, we can produce another type of passive RC filter that passes a
selected range or “band” of frequencies that can be either narrow or wide while
attenuating all those outside of this range. This new type of passive filter arrangement
produces a frequency selective filter known commonly as a Band Pass Filter or BPF for
short.

BAND PASS FILTER CIRCUIT

Unlike a low pass filter that only pass signals of a low frequency range or
a high pass filter which pass signals of a higher frequency range, a Band Pass
Filters passes signals within a certain “band” or “spread” of frequencies without
distorting the input signal or introducing extra noise. This band of frequencies can be
any width and is commonly known as the filters Bandwidth.

Bandwidth is commonly defined as the frequency range that exists
between two specified frequency cut-off points ( fc ), that are 3dB below the maximum
centre or resonant peak while attenuating or weakening the others outside of these two
points.

Then for widely spread frequencies, we can simply define the term
“bandwidth”, BW as being the difference between the lower cut-off frequency (fcLower )
and the higher cut-off frequency ( fcuiguer ) points. In other words, BW = fy - fi.. Clearly
for a pass band filter to function correctly, the cut-off frequency of the low pass filter
must be higher than the cut-off frequency for the high pass filter.

The “ideal” Band Pass Filter can also be used to isolate or filter out certain
frequencies that lie within a particular band of frequencies, for example, noise
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cancellation. Band pass filters are known generally as second-order filters, (two-pole)
because they have “two” reactive component, the capacitors, within their circuit design.
One capacitor in the low pass circuit and another capacitor in the high pass circuit.

Frequency Response of a 2nd Order Band Pass Filter.

_ Vout

Gain vin Jf,: Jf,:
[ Stop Elandhf:: Pass Band : Stop Elandr.";
0dB
3dB +— -3dB (45%)
Frequency Response :
= | Slope =
o Bandwidth -
= - andwi > | 20dB/Decade
° |
I
\ Slope = | |
+20dBDecade :
| |
' |
g ¥ f
JL Sfeenter fu Frequency {Hz)
Phase | [Logarithmic Scale)
+30° !
[
[
|
[
0° >
[ Frequency
Phase :
Shift |
-a0°

The Bode Plot or frequency response curve above shows the
characteristics of the band pass filter. Here the signal is attenuated at low frequencies
with the output increasing at a slope of +20dB/Decade (6dB/Octave) until the
frequency reaches the “lower cut-off” point fi. At this frequency the output voltage is
again 1/V/2 = 70.7% of the input signal value or -3dB (20 log (Vout/Vin)) of the input.

The output continues at maximum gain until it reaches the “upper cut-off”
point fg where the output decreases at a rate of -20dB/Decade (6dB/Octave)
attenuating any high frequency signals. The point of maximum output gain is generally
the geometric mean of the two -3dB value between the lower and upper cut-off points
and is called the “Centre Frequency” or “Resonant Peak” value fr. This geometric mean
value is calculated as being fr 2 = fiupper) X f(LOWER)-

A band pass filter is regarded as a second-order (two-pole) type filter
because it has “two” reactive components within its circuit structure, then the phase
angle will be twice that of the previously seen first-order filters, i.e., 180°. The phase
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angle of the output signal LEADS that of the input by +90° up to the centre or resonant
frequency, fr point were it tecomes “zero” degrees (0°) or “in-phase” and then changes
to LAG the input by -90° as the output frequency increases.

The upper anc lower cut-off frequency points for a band pass filter can be
found using the same formula as that for both the low and high pass filters, For example.

Then clearly, the width of the pass band of the filter can be controlled by the
positioning of the two cut-off frequency points of the two filters.

Band Pass Filter Example

A second-order band pass filteris to be constructed using RC
components that will only cllow a range of frequencies to pass above 1kHz (1,000Hz)
and below 30kHz (30,000Hz). Assuming that both the resistors have values of 10kQ’s,
calculate the values of the tw capacitors required.

Signal __,
INput

Low-pass filter

—_—

High-pass filter

e gliﬁn al

put

blocks frequencies

blocks frequencies
that are too low

that are too high

The High Pass Filter Stage

The value of the capacitor C1 required to give a cut-off frequency fi. of
1kHz with a resistor value of10k(Q is calculated as:

A

Bof o Wl F EL

Then, the values of R1 and C1 required for the high pass stage to give a
cut-off frequency of 1.0kHz ¢ re: R1 = 10kQ’s and C1 = 15nF.

The Low Pass Filter Stage

The value of the capacitor C2 required to give a cut-off frequency fu of 30kHz with a
resistor value of10k(} is calculated as:

0} ; ;f_"
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Then, the values of R2 and C2 required for the low pass stage to give a cut-
off frequency of 30kHz are, R = 10kQ’s and C = 510pF. However, the nearest preferred
value of the calculated capacitor value of 510pF is 560pF so this is used instead.

With the values of both the resistances R1 and R2 given as 10k(}, and the
two values of the capacitors C1 and C2 found for the high pass and low pass filters
as 15nF and 560pF respectively, then the circuit for our simple passive Band Pass
Filter is given as.

Completed Band Pass Filter Circuit

High P ass Filter Stage Low Pass Filter Stage

/\ C1=15nF FZ =10K0
0 | AAN, °

Vi R1=10KD $ C2=5660pF ___ Vo
o + 0

Band Pass Filter Resonant Frequency

We can also calculate the “Resonant” or “Centre Frequency” (fr) point of the band pass
filter were the output gain is at its maximum or peak value. This peak value is not the
arithmetic average of the upper and lower -3dB cut-off points as you might expect but is
in fact the “geometric” or mean value. This geometric mean value is calculated as
being fr 2 = fcupper) X fc(Lower) for example:

Centre Frequency Equation

;:x‘-‘

of

— af F7 v frr

o Where, f; is the resonant or centre frequency
o fLis the lower -3dB cut-off frequency point

o fuisthe upper -3db cut-off frequency point
And in our simple example above, the calculated cut-off frequencies were
found to be f. = 1,060 Hz and fu = 28,420 Hz using the filter values.

Then by substituting these values into the above equation gives a central
resonant frequency of:

)-4

)]
o
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Band-stop filters

It is so called band-elimination, band-reject, or notch filters; this kind of
filter passes all frequencies above and below a particular range set 'y the component
values. Not surprisingly, it can be made out of a low-pass and a high-pass filter, just like
the band-pass design, except that this time we connect the two filter sections in parallel

with each other instead of in series. (Figure below)

passes |low frequencies

—| Low-pass filter | —

Signal _,,T . Si%nal
Input l T output
» | High-pass filter .
passes high frequencies

System level block diagram of a band-stop filter.
Constructed using two capacitive filter sections, it looks something like
(Figure below).
R, R,

VWA VWA

c, ST c

I G

I ||

source R, %Rm .

96




Butterworth Filter

A Butterworth filter is atype of signal processing filter designed to have a frequency
response as flat as possible in the passband. Hence the Butterworth filter is also known as
“maximally flat magnitude filter”. It was invented in 1930 by the British engineer and
physicist Stephen Butterworth in his paper titled “On the Theory of Filter Amplifiers”.
The frequency response of the Butterworth filter is flat in the passband (i.e. a bandpass
filter) and roll-offs towards zero in the stopband. The rate of roll-off response depends on
the order of the filter. The number of reactive elements used in the filter circuit will
decide the order of thefilter.

The inductor and capacitor are reactive elements used in filters. But in the case of
Butterworth filter only capacitors are used. So, the number of capacitors will decide the
order of thefilter.

Here, we will discuss the Butterworth filter with alow passfilter. Smilarly, the high pass
filter can be designed by just changing the position of resistance and capacitance.
Butterworth L ow Pass Filter Design

While designing the filter, the designer tries to achieve a response near to the ideal filter.
It isvery difficult to match results with the exact ideal characteristic. We need to use
complex higher-order If you increase the order of the filter, the number of cascade stages
with the filter is also increased. But in practice, we cannot achieve Butterworth’s ideal
frequency response. Because it produces excessive ripple in the passband.In Butterworth
filter, mathematically it is possible to get flat frequency response from 0 Hz to the cut-off
frequency at -3dB with no ripple. If the frequency is more than the cut-off frequency, it
will roll-off towards zero with the rate of -20 dB/decade for the first-order filter.If you
increase the order of the filter, the rate of aroll-off period is aso increased. And for
second-order, it is-40 dB/decade. The quality factor for the Butterworth filter is 0.707.
The below figure shows the frequency response of the Butterworth filter for various
orders of thefilter

10 Gain dB 90° Corner
1st-order
Mazamally flat Ind-order
0
3rc-order
etc.
-10
-20
| deal
-301  “Brick wall”
Response
-40
-50
-60
0.1 03 1 3 10 30 ©H2)

Mormalised Frequency
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Frequency Response of Butterworth FilterThe generalized form of frequency response for
nth-order Butterworth low-pass filter is;

1

Hijw) = —
! =3 W 13
+ =9 =]
1 4 = =

Y
Where,

n = order of thefilter,

o = operating frequency (passband frequency) of circuit
oc = Cut-off frequency

€ = maximum passband gain = Amax

The below equation is used to find the value of «.

Where,
H1 = minimum passband gain
Ho = maximum passband gain

First-order L owpass Butterworth Filter

The lowpassfilter is afilter that allows the signal with the frequency islower than the
cutoff frequency and attenuates the signals with the frequency is more than cutoff
frequency. In the first-order filter, the number of reactive componentsis only one. The

below figure shows the circuit diagram of the first-order lowpass Butterworth filter.

>w®

Flg. 2.79 First order high pass Buttearworth filter




The low pass Butterworth filter is an active Low passfilter asit consists of the op-amp.
This op-amp operates on non-inverting mode. Hence, the gain of the filter will decide by
the resistor R; and Rr. And the cutoff frequency decides by R and C.

Now, if you apply the voltage divider rule at point Va and find the voltage across a
capacitor. It is given as,

1+ 32 f R

Because of the non-inverting configuration of an op-amp,

, R\
v, = (l | R—i) v,

WHERE
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The below figure shows the frequency response of first-order lowpass Butterworth
filter.

Voltage gain
'
A rate of decrease 20 dB/decade
0.707 Ap ~» i.8. Slope - 20 dB/decade
(3 dB down) |
I
— Eass - Stop band —»
and !
" » frequency
0 f,

Fig. 2.75 Frequency response

Second-order Butterworth Filter

The second-order Butterworth filter consists of two reactive components. The
circuit diagram of a second-order low pass Butterworth filter is as shown in the

below figure.

R
NWA

+Veo

R
< s '\M‘/\r 2 &
- op-amp
ST
+ “Ves
Vln

Z T 03;

Fig. 2.76 Second order low pass butterworth fiiter

'l“}_of ¢

In this type of filter, resistor R and Rr are the negative feedback of op-amp. And
the cutoff frequency of the filter decides by R2, Rs, C,, and C3.The second-order
lowpass Butterworth filter consists of two back-to-back connected RC networks.
And R, isthe load resistance. First-order and second-order Butterworth filters are
very important. Because we can get higher-order Butterworth filter by just
cascading of the first-order and second-order Butterworth filters.




Let’s analyse the circuit of second-order Butterworth filter,

Apply Kirchhoff’s Current Law at point V.
h=1+1I;3

"m _‘.l . "l = ‘;l Vl = ‘:/
Rj B L ) R;; (1)

sC'

Using potential divider rule at point V,

2 l T .\,{_‘A,(':g

Put the value of Vi inequation-(1)  y1 — v- (1 — wzzsem)
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Because of the non-inverting configuration of an op-amp,

Vo= :" Vs

Where,
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Rearrange this equation,
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Compare this equation with the standard form transfer function for second-order
Butterworth filter. And that is,

Vo A
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By comparing above equations, we can find the equation of cutoff frequency and
overall gain for the second-order lowpass Butterworth filter.

The gain of filter is,
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And the Cutoff frequency of filter is,
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Now, if we consider the value of R; is same as R3 and the value of C; 1s same as C3.
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Now if we put above values in transfer function,
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From above equation, the quality factor Q is equal to,
1
Q=

3— Ay




We can say that, the quality factor is only depends on the gain of filter. And the
value of gain should not more than 3. If the value of gain is more than 3, the
system will be unstable.

The value of quality factor is 0.707 for the Butterworth filter. And if we put this
value in equation of quality factor, we can find the value of gain.

0.707 =

3— Ag
A; = 1.586
1 + R; Ry = 1.586

R;R1 = 0.586

While designing the second-order Butterworth filter above relation must be satisfy.

~rw

The frequency response of this filter is as shown in below figure.
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Third-order lowpass Butterworth filter can design by cascading the first-order and
second-order Butterworth filter.




The below figure shows the circuit diagram of the third-order lowpass Butterworth filter.
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Third-order Low Pass Butterworth Filter

In this figure, the first part shows the first-order lowpass Butterworth filter, and the
second part shows the second-order lowpass Butterworth filter.

But in this condition, the voltage gain of the first part is optional and it can be set at any
value. Therefore, the first op-amp is not taking part in voltage gain. Hence, the figure for
the third-order low passfilter can be expressed as below figure also;

First-order

Second-order Low pass Filter '
Low pass Filter

[— IL
!
X




The voltage gain of a second-order filter affects the flatness of frequency response.
If the gain of the second-order filter is kept at 1.586, the gain will down 3db for
each part. So, the overall gain will down 6dB at the cutoff frequency.

By increasing the voltage gain of the second-order filter, we can offset the
cumulative loss of voltage gain.

In the third-order Butterworth filter, the rate of aroll-off period is -60dB/decade.
And the frequency response of thisfilter is nearer to the ideal Butterworth filter
compared to the first and second-order filters. The frequ

Gain (dB)
Ideal Response
Ay
.................... Rate of roll-off
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(—"assbund* “ E4QU .
f(H2)

(frequency response of this filter is as shown in the below figure.)

Fourth-order L owpass Butterworth Filter
Fourth-order Butterworth filter is established by the cascade connection of two

second-order low pass Butterworth filters. The circuit diagram of the fourth-order
lowpass Butterworth filter is as shown in the below figure.
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Second-order Low pass Filter
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Fourth-order Low Fass Butterworth Filtor

If the gain of both filtersis set at 1.586, the voltage gain will be down 6 dB at the
cutoff frequency. We can get a more flat response by choosing different values of
voltage gain for both stages. According to the advanced research, we get maximum
flat response, if we use the voltage gain 1.152 for the first stage and 2.235 for the

The below figure shows the frequency response of the fourth-order lowpass

Butterworth filter.
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Butterworth Filter Applications

The applications of a Butterworth filter are listed below

« Because of the maximal flat frequency response in the passband, it is used as
an anti-aliasing filter in data converter applications.

« The Butterworth filter is used in the audio processing application. An
efficient audio noise reduction tool can be developed using a Butterworth
filter.

« Itisaso used invarious communication and :

. Itisusedinradar to design the display of radar target tracking.

« Itisused for motion analysis.

Attenuator

Every signal that includes electrical, telecommunication, entertainment signal
(television), etc. should be transmitted from one place to another place through a
medium. As the distance of signal travelled increases the strength of signal
decreases and it will be difficult for alot of tasks. But, attenuation, phenomenon of
gradual loss of strength of signal over distance is still useful in many tasks.
Attenuators are simple passive two-port electronic devices that are used for
attenuation, to reduce strength of signals without causing disturbance to its
waveform.

o M%‘MI‘—O

T antanuator M attenusor



https://www.electrical4u.com/control-system-closed-loop-open-loop-control-system/
https://www.watelectronics.com/major-electrical-electronic-components/

Definition of the decibel

« Thebel isalogarithmic unit used to express the ratio between two values, G
and areference Grs , of a physical quantity. The decibel is a tenth of a bel.
A level L,z iscalculated with the following method:

L,z =10 log % (dB)
« The quantity under study ¢ is, in general, a power. For field quantities g
(speed, pressure, force, voltage...) which need to be sguared to obtain the
power, the level in decibels is given by the following relation:

Lys = 20log —2— (dB)

° Brer

The decibel scale is used in numerous physical domains (electronics, acoustics,
audio, etc...). As such, this units definition depends on the reference value Grer and
can be distinguished by the use of different symbols

« Electronics: dBW , dBV ...
o Audio: dBu, dBFs ...
« Acoustics: dBA ,dBC, dBHL ...

Hence, there are alot of different decibels, which are not comparable. The use of
this type of unit requires a sufficient knowledge of the definition of the considered
decibel.

Gain and attenuation in decibels

The decibel can also be used to explain the gain, or attenuation, of a system. For
example, the gain in decibels Gus of an amplifier can be obtained by the ratio of
output voltage i by the input voltage . . The calculation of Gaz is done with the
following formula:

Gy = 20log = (dB)
I _

&




o Gain/Attenuation When we talk about transmitting signals, we’re very
interested in the power of the signal that is transmitted (and the power that is
received). As you know, power is measured in units of Watt (W). To get a
sense of relative amounts of power, consider the following A typical
household incandescent light bulb consumes 60WAN exercise bike average
output is approx. 200W

« A microwave uses 1100W

« AM radio stations transmit 10,000-50,000W.Now, consider a typical
situation where aradio receiver receives signal from a radio station as shown
inthe illustration to the right. Note that: The signal power decreases

« Osignificantly at the car receiver signal loss (attenuation). The signal power
received is too

« signal must be amplified®low first (gain). The term gain usually refersto
amplification. For an amplifier, the gain (A) is theratio of the output to the
input. So, to calculate power gain (AP) where Pin is the power input and
Pout is the power outpuit:

Amplifier

Pin \ Pout

Input signal Output signal

Ap = Pout/Pin (unitless)

Reduction or signal loss is termed attenuation. This occurs when we have again
that is less than 1. Although

gain/attenuation is usually associated with the signal power, it is sometimes used to
described the gain/attenuation of the

signal voltages as well.

Decibels

For many reasons of history and practicality, engineers usually use alogarithmic
unit called the decibel (dB) to express gain

and attenuation figures. To express power gain or attenuation with decibels (dB):




P
Ayp = 1010 ( o\ dB
Pin A

If we’re dealing with current or voltage gain such as AV = Vout/Vin, then the gain
in decibels is given by

V
a0 =@0os (372) ap
mn

Notes:
* Gains greater than 1 (emplification) will result in a positive (+) dB value.
e Gains less than 1 (affenuation) will result in a negative (-) dB Valte.
e A few decibel values that you should know

0dB = |
o 3dB = 2 (approximate)
— o -3dB = V5 (approximate)
o 10dB = 10
5 ; . Pt Adp
If you want to convert dB to power gain ratio:  Ap = ( ) =10 10
in
- ; ; : Vi Ads
If you want to convert dB to voltage/current gain ratio: Ay = (V ) =10 20
in

Tvypes of Attenuator

Attenuators are available as both fixed attenuators and adjustabl e attenuators.
Fixed attenuator networks are known as ‘attenuator Pads”. These are available for
specific values from 0dB to 100dB. Attenuators are commonly found in Radio
Frequency and Optical applications. Radio Frequency attenuators are used in the
electronic circuits whereas optical attenuators find applications in fiber optics.

Few common layouts of attenuator are- T configuration, pl configuration, and L
configuration. These configurations are of an unbalanced type. The balanced type
of T configuration and pl configurations are denoted as ‘H’ configuration, O
configuration respectively. The balanced type is a symmetrical circuit whereas
unbalanced types are asymmetrical circuits




The RF-based design of the attenuator is of six types. They are Fixed type, Step
type, Continuously Variable type, Programmable Type, DC Biastype and DC
Blocking type.

Fixed Type

In Fixed type attenuators the resistor network is locked at a predetermined
attenuation value. These are laid down in the signal path to attenuate the power of
the transmitted signal. These can be unidirectional or bidirectional based on their
application requirement. These can be available as either surface mount,
waveguide or coaxial types. In a chip-based design, the different types of materials
deposited on the thermally conductive substrate devel op the resistance. This
resistance value depends on the dimensions of the chip and the materials used for
chip production.
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Attenuator Applications:

There are so manyattenuator applications that we can observe in our daily life and
afew of them are listed below:

« Microwave power can be controlled using PIN diode attenuators, PIN diode
Is used as control element in most of the electronically variable attenuators.

« Tocontrol volume of electronic equipment such as speakers, electric guitars,
etc. attenuators are used.




In general, while conducting tests in laboratories only a small voltage or
current signal is used for which attenuators are widely used to reduce output
signal strength.

To test high power radio frequency signals, before applying it to the test
equipment you should reduce the strength of the signal for which attenuators
can be used.

While driving match sensitive radio frequency mixersit is really important
to ensure that proper impedance match is obtained as poor match can lead to
degraded performance. So, impedance matched radio frequency attenuator
can be used to improve this matching and improve performance.

In some digital or analog circuits, a surge in voltage may cause damage to
the circuits which can be avoided using attenuators to reduce high voltages.
In fibre optic communication, it is important to obtain proper match for
transmitter and receiver which can be obtained using optical attenuators.
Basic signal generators will be able to generate an exact fixed level and to
use this output signal we must use switch attenuators to reduce its signal
which is less effective method compared to using a variable level control
radio frequency attenuator that can be used to generate required levels.
Attenuators are used as volume control equipment in broadcasting stations.
For testing purposes in laboratories, to obtain smaller voltage signals,
attenuators are used.

Fixed attenuators are used to improve the impedance matching in circuits.
These are used to protect the circuits from damages caused by high voltage
values.

RF attenuators are used for the protective dissipation of power in measuring
RF signals.

Optical attenuators are applied in fiber optic communication to properly
match transmitter and receiver levels.
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